Question Paper Preview

Notations:
1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper MScBiochemistryEnvironmentalScienceForensicScienceGeneticsandMicrobiologyBCE

Name: 11th Aug 2022 S2

. M.Sc. Biochemistry Environmental Science Forensic Science Genetics and Microbiolo
Subject Name :

(BCESFSG&M)
Creation Date: 2022-08-1119:31:12
Duration : 90
Total Marks : 100
Display Marks: No
Calculator : None
Magnifying

Glass Required? No

Ruler Required?

No
Eraser

No
Required?:
Scratch Pad

No
Required?:
Rough
Sketch/Notepad No
Required?:
Protractor

No
Required?:



Show
Watermark on Yes

Console?:
Highlighter : No

Auto Save on

Yes
Console?
Change Font

No
Color:
Change

Background No

Color:

Change Theme : No
Help Button: No
Show Reports: No

Show Progress

No

Bar :
PART A

Group Number : 1
Group Id : 90320115
Group
Maximum 0
Duration:
Group
Minimum 0
Duration:
Show Attended

Yes
Group?:
Edit Attended

Yes

Group?:



Break time : 0
Group Marks: 40

Is this Group

No
for Examiner?:
Examiner
Cant View
permission :
Show Progress
No
Bar?:
SectionId : 90320126

Section Number
1

Section type: Online

Mandatory or

Mandatory
Optional :
Number of

40
Questions :
Number of

Questions to be 40

attempted :

Section Marks : 40
Enable Mark as
Answered Mark

for Review and Yes

Clear Response

Maximum
Instruction 0
Time:

Sub-Section 1

CHEMISTRY



Number :
Sub-Section Id : 90320128

Question
Shuffling Yes
Allowed :

Question Number : 1 Question Id : 9032011802 Question Type : MCQ Option Shuffling : Yes Is Qu¢

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Til

Correct Marks : 1 Wrong Marks : 0
The reaction of Grignard reagents with acid halides gives.

OHE HFPRSE® (PRxrE so8cre SERENBD

Options :
Ketones
865

Aldehydes

SO

Alcohols

ege:r@rﬁﬁ_@::

Alkyl halides

sF)S FBGen

Question Number : 2 Question Id : 9032011803 Question Type : MCQ Option Shuffling : Yes Is Que

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Tir



Correct Marks : 1 Wrong Marks : 0

The number of possible 1somers for the octahedral [Co(C204)(NH;), ] 1
@@ainé;,]cfu [Co(Cy04)(NH3)2| % 5D SyEe Sogy

Options :

3

Question Number : 3 Question Id : 9032011804 Question Type : MCQ Option Shuffling : Yes Is Qu¢

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Til

Correct Marks : 1 Wrong Marks : 0
In which one of the following species does the transition metal ion have d°
electronic configuration?
8ot i) erdhod® A0S 50855 & oaieS 0 Dol Dwgdo doin?

Options:

[(: DF&] =

1. %

[CC’(_OHE}:‘S]B



[Ni(OH,)s]**

[Cr(NHs)s]"

Question Number : 4 Question Id : 9032011805 Question Type : MCQ Option Shuffling : Yes Is Que

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Tir

Correct Marks : 1 Wrong Marks : 0

Which of the following complex has metal with highest oxidation state?

8o O Jogo wb¥ w&¥sn §8 Ko R EaRE?

Options :

K[Mn(CO)s]

Nau[Fe(CO)s]

[Fe(CO)s]

3. %

[Cf[‘(]]ﬁ-(:‘ﬁHﬁ)g]

4. &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks fol

question if any of the correct options are chosen.

Question Number : 5 Question Id : 9032011806 Question Type : MCQ Option Shuffling : Yes Is Que



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Tir
Correct Marks : 1 Wrong Marks : 0

Phenol reacts with methyl chloroformate m the presence of NaOH to form

product A. A reacts with Br; to form product B. The products A and B are;

NaOH #:5508° 96, npé 565058 S65T0b Bairao A D). A, Bnéd

3500 B Dby, Bofrasrgen A 5800 B e 885

Options:

- OH Br OH
| and
= OCH;4 OCH3
1. % 0 Q
OH OH
and
OCH; i OCH,4
2. % < g

0. _OMe Br O _LOMe
| R "|/ and TT \IT
0 ~ 0

o

Question Number : 6 Question Id : 9032011807 Question Type : MCQ Option Shuffling : Yes Is Que

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Tir

Correct Marks : 1 Wrong Marks : 0
Which of the following sets represents micronutrients?
Bob Hnhed® Ab HrgRtiseed Grddnoh?

Options :



Mn, Cu, Zn, Mo and Se
Mn, Cu, Zn, Mo #ads» Se

1.4

Na. Ca. Cl and Fe

5 % Na, Ca, Cl s8a» Fe

Mn. Ca. P. Zn and Fe

Mn, Ca, P. Zn Secn Fe
3. %

P. Cl, Cu, Zn and Mo

P. Cl, Cu, Zn s8c Mo
4. %

Question Number : 7 Question Id : 9032011808 Question Type : MCQ Option Shuffling : Yes Is Qu¢

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Til

Correct Marks : 1 Wrong Marks : 0

Most abundant element by atomic per cent i human body 1s

HB5rere HBore, SrHs 65088 @bs a8 Ko sireBsn
Options :

P



Question Number : 8 Question Id : 9032011809 Question Type : MCQ Option Shuffling : Yes Is Qu¢

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Til

Correct Marks : 1 Wrong Marks : 0
Negative charge of carbanion can be dispersed by

seonRaHeE” anerd)l wddo BO5g DEHHIDDH?

wl
et
Options :
+] effect and resonance

+] Hgrso Hbcn BESS)

1. %
Hyperconjugation
5 % @Eﬁ“{o’ocﬁﬁbr%a’m
—I effect and resonance
—I Hgrso HBcn BEDN)
3. v
+M effect and resonance
. M Sgrso Sbc BESS)

Question Number : 9 Question Id : 9032011810 Question Type : MCQ Option Shuffling : Yes Is Que

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Tir

Correct Marks : 1 Wrong Marks : 0



What 1s the name of the following reaction?
Bob $85 DB ILS?

NaNO,, EtOH
NO;
—_— ? & NaCl

NO, NO,

_Cl

Options :

Ullmann reaction

&0 S8
1. %
Claisen condensation reaction
Bo0e RHoZDNS By
2. %
Ter meer reaction
&6 b S8
3.V
Claisen rearrangement reaction
BondS HSEHOE S5
4, %

Question Number : 10 Question Id : 9032011811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s formed when alkyl primary amines react with nitrous
acid?

uFS (@00 olhden JLD eod® STod Bob HE® BN AHDHD?



Options :
Nitroalkanes

&° eT)Sen

Alcohols
sepRBsen

2. ¥
Tertiary amines

HYEHO DDSED

Secondary amines

2¥0isd H&hSen
4_ W

Question Number : 11 Question Id : 9032011812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following cell is not an electrochemical cell?
808 Fired® b DExS Bradd Fpsn 06 A6?
Options :

Fuel cell
20D $0EE0

Battery

- eavéé.}é



Voltaic cell

.SEE_EDJ}E €550
3. %

Photovoltaic cell
é‘j’%‘iﬁﬁﬁe_}gomg €5

4, &

Question Number : 12 Question Id : 9032011813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The power of battery having emf E; =20V 1s

emf E; = 20V Ke argtad Frsdso
Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to al

candidates.
Options :

20 Watt

30.8 Watt

13.4 Watt



442 Watt

Question Number : 13 Question Id : 9032011814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Of the following, which 1s the conjugate acid and base pair?

8ot B* 2 Sookhnrf) es-gt a0L?

Options :
HESO_-; and HSDq_
HESO4 sHBan HSO.{

H;-SO4 and NﬂgSO.ﬁr
HJSO4 SHBadw NH;SC"q

HCI and NaOH
HC1 508050 NaOH

H>SO4 and NaOH
H>S0;4 sheas NaOH

Question Number : 14 Question Id : 9032011815 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In a zero-order reaction for every 10 °C rise of temperature, the rate 1s doubled. If the
temperature 1s ncreased from 10 °C to 100 °C, the rate of the reaction will become
o8 {03 (Giro¥ 3656° (58 10°C o adfifer 638, Bew D80, 485118 10°C 08 100°C

o) OASH, S8 Bi

Options:
64 times
| x 040D
20 times
20 Beros
2_ W
256 tumes
256 Baihs
3, % e
512 tunes
4w 212 s

Question Number : 15 Question Id : 9032011816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The half-life pertod of a first-order chemical reaction 15 6.93 munutes. The time
required for the completion of 99% of the chemical reaction will be (log 2 =
0.301)
§ (555 [E5mo¥ Sarahis S8 @U‘;cﬁm@ 6.93 Dhapen. BRraD 585 99% T8 eHLDH
saels Sinado (log 2= 0.301)
Options :

230.3 munutes

230.3 2vapen

460.06 minutes
460.06 2503pen

2. %

46.06 minutes

46.06 2aoapen
3.¢

23.03 munutes

Question Number : 16 Question Id : 9032011817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Mixture of 1ce and water form

5o sndcin A oo Ve)leVnvialal

Options :

1. %



a closed system

2.8 Kmaﬁéé 5“3535@

a open system

a8 fane aﬁg&ﬁﬁ
[ [A]

a 1solated system

ol ases éééé
==u ]

a heterogeneous system

2.8 Derdich 335395
4. "

Question Number : 17 Question Id : 9032011818 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The enthalpy of vaporisation of a substance is 8400 J mol™ and its boiling
pomt 1s —173 °C. The entropy change for vaporisation s

8 S8 arhygsss o) 8400 Jmolmeot: e ardygsss o —173°C.
mvﬁgaﬂééoéa oS He® B

Options :

R4 T mal K
1.9

12 Tmol! K!
2. %



29 Tmol ' K!

49 J mol! K!

Question Number : 18 Question Id : 9032011819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Spin multiplicity can be derived from the equation

D0 erEiEH rHoh HBBeEo

Options :
2T
1. %
28+1
2. ¥
2JS -1
3. %
28
4, ®

Question Number : 19 Question Id : 9032011820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following electronic transition require less energy?

Bob @ DerERE HHBEINDH SEy €8 ©DIEHIHDH?

Options :
G to ¥
G 508 0¥ %
1, %
T to ¥
T %08 TF %
2. %
nto c*
3 % D S08c*s
n to ¥

N 508 TF %
4.

Question Number : 20 Question Id : 9032011821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not a variable

Bob BE° 06 SBT-8 soeH?
Options :

Wavelength

BoK P



Planck's constant

a0k horoso
2. %

Velocity
- late)
[Location
R0
4, %

Question Number : 21 Question Id : 9032011822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘No two electrons of an atom will have an 1dentical set of four quantum
numbers’. It 15 the statement of
BPe0) @NE) o) Bot o".)aJLs;Ee;}é) enth 52080 Jogge Hd 2.8 Difore S0k, & Dt
Options :
Hund's rule
Swob oD

Autbau principle

ema” Dchihaim

Raman eftfect

3 % oeae (Deraio



Pauli's exclusion principle

PO HYD Dansivain
4. =

Question Number : 22 Question Id : 9032011823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which 1s the appropriate statement about the reactions of gases and solids?
ardiui)en oA share S HBoD SAN Jibes 6?
Options :
Gases react faster than the solids

soare Bod ardinaden Sifore Sty theron
1. ¢

Gases do not react at all while solids react faster

TrCinHen eden ST, so0 Foren Bifore ST orhHeron

Gases react slower than the solids

- soare o0& arcinden IBYdmr ST orheron

Both the gases and solids react at a same rate

srainen $bcin Fharen Botir &8 Bend® St otheran
4. %

Question Number : 23 Question Id : 9032011824 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The data collected through the tools which are quantifative in nature and
analysed accordingly 15
eS0T HOPEEEDS Pty D800 Hbdi Sbibnom Jghodnds derodo
Options :
Thematic analysis

&3 DBASrHE DFes

1.%
Field analysis
L i B3 O
Data analysis
Berod DI
3.v T
Content analysis
L u Diicd O

Question Number : 24 Question Id : 9032011825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following compound is more basic than aniline

Bod TBE° ANDS KoB A& oo Ko HiyFko Ab?

Options :

1. %



Triphenylamine

|BD3EDEDS

4-Nitroaniline

4-31EF20DS

Benzylamine
BoBADDS

Diphenylamine

8536080

Question Number : 25 Question Id : 9032011826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s useful for the synthesis of benzoyl chloride from

benzoic acid

Bod aH6° DogPank wxfo Hod Boand EBEL Jodmo Banbr SITPHIHNE I6?

Options :
Cl,. hv

Cl,, H,O



SO,. Cl,

SOCL

Question Number : 26 Question Id : 9032011827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The cooking gas 1s mainly composed of
D0 TPID HOFVEDO
Options :
Butane and ethane

argEe Bain &80

1. %
Butane and propane
208 SO PR

2. %
Acetylene and ethane
DDEDT By SBS

3. %

Acetylene and propane

ADLDR B (T
4, %



Question Number : 27 Question Id : 9032011828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s incorrect about cyclohexane

PETFER 1800 (Bob S JHEH HHBm B 267

Options :

H atoms occupy equatorial or axial sites

H 58smemden Hseoadich s @gd’i} ﬂga&@@ s(BoHE0tron

1. %
Each C atom is sp’ hybridized
58 C 385res) sp° H08b88mo Sokod

2. %
Cyclohexane suffers ring strain

v DB TS Hoch Hoirdid Srothd®

3. -
Its ring flips between chair and boat conformations
) Hoch Hb) Hddn HED ehdrdse Ky SHIHHs

Question Number : 28 Question Id : 9032011829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aromatic compounds does not undergo

ABEmAE &&éﬁﬁ“u} Boss) Stgen



Options :
Dehydrogenation reactions

ErETRS8S Stgen
1.¥

Coupling reactions

dﬁ)}ﬁ& 15655_1}
2 %

Cycloaddition reactions

SeaNNoBeN 55@@}
3. %

Halogenations

EPead)ESeaoen
4. %

Question Number : 29 Question Id : 9032011830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The reaction C,HsONa + IC,Hs — C,H;OC,H;s + Nal is known as
C,Hs0Na + IC,Hs — C,Hs0C,Hs + Nal e ¢
Options:
Claisen condensation

SONHM POENRHE0
1. %

Williamson reaction

DOHSHBS 385



Claisen-Schnudt reaction

- Sowdo-8pe5 Ss

Whurtz reaction

Esg ey

Question Number : 30 Question Id : 9032011831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which 15 the correct assignment of chiral centers at C2 and C3 positions of the
followmg molecule?

8ot e’ (2 oty (3 e i 366 So Soqis 53¢ (assignment) 9a?

CHO
H2-OH
HO-H
CH,0H
Options :
2R.3S
1.¢
, « 2R3R
25,38
3. %



25.3R

Question Number : 31 Question Id : 9032011832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The TUPAC name of the following compound 1s
Bod $3y¥so JTUPAC w00

-CH
Br, HXC ’

CH-C=C-CH,
Ha,C_CHz H CH3

Options :

3-Ethyl-5-bromohept-3-ene

3-&FS-b-[E°Frer]-3-&5

3-Bromo-5-ethylhept-4-ene
3-B°Br-5-&PSarg-4-&3

5-Bromo-3-ethylhept-3-ene

5P -3-LgSrn -3 -8
= (4]

1. 1-diethyl-3-bromopent-1-ene
1,1 B&pS5-3- 8" 3r20s5-1-&5



Question Number : 32 Question Id : 9032011833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The synthesis of cyanohydrin from a ketone 1s an example of

455 508 H0OTIRAS Sodsed of smEirtn

Options :

Nucleophilic substitution

558 @rHOE (H8gHee0

1%
Electrophilic substitution
QO(E OB Hoseso

2. %
Nucleophilic addition
Srs8@rHos Hofeso

3. %
Electrophilic addition
By “{%S}@E Hodeso

4. %

Question Number : 33 Question Id : 9032011834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The number of ¢ and n-bonds i B-naphthol are

ﬁ—m@;ﬁ_@‘s C Hbam M- mogre Hogy



Options :
12 and 5

12 50865 5

20 and 5

20 s08d50 b

7 and 6
7 506650 6

19 and 5

19 s9H8c5w b

Question Number : 34 Question Id : 9032011835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following does not contamn Cs axis?

8ot 8¢ 6 C3 ozl EDAN0EE?

Options :
POCl;
1. %
H4N™



ClF;

H;O"

Question Number : 35 Question Id : 9032011836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following reaction 1s useful i the preparation of benzaldehyde

from toluene?

DR ol Boerdrh $0ir08 (Bob o B sHGFoSSE)H?

Options:
Riemer-Tiemann reaction
536-E2S 585

1. %

Wurtz reaction

ﬁg 585

Cannizzaro reaction

selesfP 5ts

Etard reaction

4 EI.E‘JDE 58



Question Number : 36 Question Id : 9032011837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The decreasmng order of covalent character m the followmng alkali metal

halides 15

Bob s 6%F:FBhe BBt (N8 81 Ko
Options :

MCI > MI > MBr > MF

1. %

MEF > MCl > MI > MBr
2. %

ME > MCl > MBr > MI
3. %

MI > MBr > MCl > MF
4.

Question Number : 37 Question Id : 9032011838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following element exhibits the maximum number of different

oxidation states m 1ts compounds?

8o Hroses® 26 a8 Sires® whE Sogd® bt Seben (55q506?

Options:



Am

Cd

Eu

T

Question Number : 38 Question Id

: 9032011839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a pseudo halogen?

Bod 8E° 26 gy HE°eS?

Options :
IF-

L

Question Number : 39 Question Id

: 9032011840 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
When reacted xenon and fluorme m the ratio of 1:5 at 873°K temperature and

7 bar pressure forms

873°K &firts, 7 bar Sitso 5§ S Hbat 6T 1:5 IS S5 wOBIYD A6

Options :

XEF4

1. %

XEFg

XE‘F{,

XeOF,
4, #

Question Number : 40 Question Id : 9032011841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The catalytic activity of transition metals and their compounds 15 mamly due

fo
568853 6':ffen HOckn ad Siygre 6@)8E Bohdod Suggor BAFOS:

Options:

Their magnetic behaviour

o8 &ﬂci‘oﬁvﬂ@roé Srgso
1. % =



Their ability to show variable oxidation states
D9 wEystem HHoH ErHosH FHgso

Their fully filled d-orbitals

8 o Dobs d—@b‘_ﬁﬁjﬂﬁ@
3. %

Their chemical reactivity
T8 BFchS [Boirded

PART B

Group Number : 2
Group Id : 90320116
Group
Maximum 0
Duration:
Group
Minimum 90
Duration:
Show Attended

No
Group?:
Edit Attended

No
Group?:
Break time: 0

Group Marks: 60

Is this Group
No
for Examiner?:

Examiner Cant View



permission :

Show Progress

Bar?:

No

SectionId : 90320127

Section Number
1

Sectiontype: Online

Mandatory or

Optional
Optional :
Number of

60
Questions :
Number of

Questions to be 60

attempted :
Section Marks: 60

Enable Mark as
Answered Mark
for Review and Yes

Clear Response

Maximum
Instruction 0
Time:
Sub-Section

Number:
Sub-Section Id : 90320129
Question

Shuffling Yes
Allowed :

PHYSICS



Question Number : 41 Question Id : 9032011842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Fields with no divergence and no curl are represented by

@08 B8rE, 85 8ird Sarad H&° Jrded
Options:

VA#Qand VxA=10
V.A #0580 VxA =0

V.A=0 and VxA =0
V.A=0508c0 VxA #0

2. %
V.A=0and VxA =0
V.A =0508c50 VXA =0
3
V.A#0 and VA =0
4% V.A #0508c50 VXA =0

Question Number : 42 Question Id : 9032011843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If7 is the Position Vector of a point, then curl 7 is equal to
28 DotHd) FFIBE 7 wonIS® EF 7 Deoss BB SaeSo

Options :
unity
1 % =t



ZETO

5 @ "éjvééo
3 %

*-.-";3
4, %

Question Number : 43 Question Id : 9032011844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Rutherford scattering the Impact Parameter P =0, then the scaftering angle “ ¢ " 1s

equal to
el HBEewH0 wfand Smid P=0mand H568:5m 8no ‘¢ dend

Options :
Zero
| % LS50
90°
2. %
45°
3. %
180°
4.

Question Number : 44 Question Id : 9032011845 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A moving ball strikes another of mass 0.2kg at rest and exerts a force of 100N for a
time of 10 milliseconds. Find the speed acquired by the ball at rest.
Sehend 07 208, &m@?g@éﬁ o 0.2 kg ($350°8 do 208 100N aerd) 10

9 DEY woorin BAPAONS, JHYBE K 208 &rod Ied) BEoSos

Options :
10 m/sec
10 &0/
1. %
5 m/sec
5 &/
2.
30 m/sec
30 S/
3. %
15 m/s
4. ®

Question Number : 45 Question Id : 9032011846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Precessional velocity of a spinning top 1s given by;
w0 VNI FordEn @y HEGBe Sio

Options :

mgr
o, =—

™



@, =——
2
2. %
mor
. = i
feo
3.¢
mg
R —
Lo
4, %

Question Number : 46 Question Id : 9032011847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Under the influence of a central force which of the following physical quantity
remains constant.
Solpah aere (roegEng® & Bob 88" O 88 vl Rore &0&n08.

Options:
Force
200

1. %
Torque
¢rB)

2. %

Angular momentum

s%8ah (g0
3.¢¥



Potential energy
8e: 85

Question Number : 47 Question Id : 9032011848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The height of the Geo-Stationary satellite above the earth’s surface 1s:
ﬁwﬂ;a’}é &3P0 girdeo Do Qo8 AEP DEED.

Options :
42330 KM
42330 8.4n.
1. %
35930 KM
35930 &.4x.
2. %
6400 KM
6400 8.&n.
3. %
78260 KM
78260 &. 4.
4. %

Question Number : 48 Question Id : 9032011849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In Rutherford scattering in actual practise the trajectory of alpha particles is:
6756 95 HESSemEnH0 sem) Epo §700 {{}é&&mga

Options :

Straight line
HEE0

Ellipse
853855
ol B2

Hyperbolic
e0&TraiedED
3. v

Circular
Sedho
4. %

Question Number : 49 Question Id : 9032011850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The phenomenon of diffraction of light by ultrasonic waves passing through a liquid
was first observed by:
@300 T (B506° w08 DGSED Dother InBBFO 5680 TS TEIS.

Options :
Newton
KJ}D&&JE

1. %



Fraunhoter

Evlpesv>ete]
Huygen
o
3. %

Debye and Sears
&8 6650 HoHG)
4.

Question Number : 50 Question Id : 9032011851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For detection of ultrasonic waves which of the following method is not used.
080D HBoSK0S" (o BE° S SR8,

Options:

Piezo-electric detector
HEf 0B85 SP5sam

1. %
Kundt’s tube method
K06 -"0 Dprosn
(+%] [
2 %
SONAR
N te]
3



Sensitive flame method

wth Ty,

oS e a’.’}tée‘la

Question Number : 51 Question Id : 9032011852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The characteristic impedance (Z) offered by the string is:
$08 s edodn ©B8EEn (Z) Hens.

Options:

Z= [V
1.+
5 % Z =4I

Question Number : 52 Question Id : 9032011853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The fundamental frequency of a sonometer wire increases by 5 Hz if its tension 1s
increased by 21%. What 1s its fundamental frequency?
RPrdniab Hartos” $08 &kd 21% H)5 JobIYH [ae5R08 BPsdo rHe

5 Hz esamsS (shgang Psedego Dents.
Options :

40 Hz
1. %

60 Hz

50 Hz
3.¢¥

100Hz

Question Number : 53 Question Id : 9032011854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Logarithmic decrement measures the
DoRgErs Site BAN Krdiod

Options :
Frequency decrement

Paadey Srpse

1. %

Time taken by total mechanical energy to decay (% ]of its original value

airoB% 48 e Dens w08 (1//J8 ot 28 seo
2. %



The rate at which energy dissipates
48 tHsgahin Jod Oéw

3,
The rate at which the amplitude decays
BoDd H050d Fahsin Tod Dew

4.

Question Number : 54 Question Id : 9032011855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A particle executing SHM has maximum velocity of 0.4 m/sec and maximuim

acceleration of 0.8 m.sec?. Calculate the time period.
BEEFTE Gomren THHE Swo Gng) 165 Hifo 0.4 /R HBAM KB S0

0.8 /22 o wans o wHBS weo.

Options :
2 sec
Zo
1. %
1 sec
1.3
2 %
3.14 sec
31475
3.¢



1.414 sec

1.414 2

Question Number : 55 Question Id : 9032011856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Lorentz-Fitzerald the contraction in the length of the rod by a factor of
804 -HT0 (S50 éé PEHE Ho8%SstEEn
Options :

27
1

el

1. ¢
; IR
||' Lol |
|‘ ity
A
2_ W
[ 2
I f_'ﬁ_ !
-2
\ Vo
3, %
4, %

Question Number : 56 Question Id : 9032011857 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not the refrigerant?
Bod & D6 (H8S8S Slagstinli=gay

Options :
NH;3
NH;3
1. F
CHjel
(CHscl
2. %
Freon
8
_— oS
CuSo4
CuSo4
4.

Question Number : 57 Question Id : 9032011858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For Joule-Thomson Cooling choose the WRONG statement.
FE 5058 B5DEBeIND Bowofod St VBB

Options :



?’; _—
b
2.¥
2a , : : £

If T < b, dT= negative. there will be heating effect

>

% < b, eanss® dT=amerd)Sn, &35 (HgP50 Sotnod

Rb
3. %

"
if ﬁ = bdT = Positive. there will be colling effect

24 b,oonss® dT =HordSam, 438886 (Herso SrHS00s

4 % Rb

Question Number : 58 Question Id : 9032011859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Clausius-Clapeyron Latent heat equation 1s
RADS HBArS o) HtgHn SdEtno

Options :
dp L
_— dT  Tl(v, +v)
dp L
2. %
dp i

ar Liv, —v,)
3. %



dp L
dr Tips=p;)

Question Number : 59 Question Id : 9032011860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Helmoltz free energy or work function is given by:
rdarg 2E)¥8 Bor O (Habaho

Options :
H=U+PV

G=H-TS

F=U-TS

dQ = dU + PdV

Question Number : 60 Question Id : 9032011861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



How much work must be done to transfer 10 joule of heat from the reservoir at 7°C to

one at 27 °C by means of a refrigerator using Carnot cycle.
509l ahogod® ([H88S0 tre 10 &y &x¥81 7°C Besomsahb Hob 27 °C %
2608 abD 1O Dend dod

Options :
0.0714 joule
0.0714 &gy
1. %
0.714 joule
0.714 2%
2.9

1.414 joule

1.414 £°¢fy
3. %

1.713 joule

1.713 &8y
4. %

Question Number : 61 Question Id : 9032011862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If C average speed, C p 18 most probable speed and r.m.s speed 1s Cpys 0f a gas at any
temperature. the relation among these are
D0 SEPHE Bt aeafng Joub So C, Sogrigio Cp 5605 1.m.siK0 Cmswo0S

3 D8 sefs Soamotfo.
Options:

€50 ap



2. %

3. % {—_}7 = C.mu > C
{‘__‘fﬂﬁ = E == [ﬁp

4, %

Question Number : 62 Question Id : 9032011863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In diffusion of gases the coefficient of diffusion is given by

sPC0E) HBESNG® srains) N8, Heto Dend

Options :
B

_— DaT’ p

Dal's
2. %

DaT’p>
3. %

DHTAPI



Question Number : 63 Question Id : 9032011864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Relation between the efficiency ‘n’ of a Camnot’s engine and coefficient of
performance K of Carnot’s refrigerator is
sonES ahol@o BES ‘n'Hhbakn srondS (HESS B0 Hmso K ke domogo

Options :

g

Question Number : 64 Question Id : 9032011865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In Huygens eyepiece two plano-convex lense of focal lengths are:
TES 9850506 Both Hihdo-Hogrses Shsee Traost Henden:

Options :



Stand £

5698cm
1. %
Afand £
4f 508a5n
2_ W
Afand
3f Hobcso
3. %
9f and 3f
Of 508a%n
4. %

Question Number : 65 Question Id : 9032011866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Lens makers formula for thin Lens 1s given by:

D) oo Soirthdn rtiyer
Options :
1)
|

1 (1
= (;:—1}‘ -
h Rl RE 'i

1 & 1§ 0
e g



Question Number : 66 Question Id : 9032011867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Interference by the method of division of amplitude 1s an example of:
805 H0Md Dgressein HKS o HyB8Bmn 308 T SEeds

Options :

Fresnel Biprism
BHDIS BOBSD

1. %
Lloyd’s mirror
erand SoB5
2 %
Newton's rings
Soegtod Beairen
3. ¢

Nicol Prism

4 % Vsed (Sresen



Question Number : 67 Question Id : 9032011868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The ratio of intensity of the maxima and minima of interference fringes is 25:9.
Determine the ratio of intensities of the two interference beams are:

S8t Bﬁén’_}@e DG 16 HBaty KL SSSe VB 2639 a3 Dot HyBEe
Hoere e B8 Devden

Options :

N

16 1

Question Number : 68 Question Id : 9032011869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The diameter of the 10 bright ring in Newton’s ring setup changes from 1.4 to 1.27
cm as liquid 1s introduced between the lens and glass plate. The refractive index of the
liquid is

Sl Beoah FHaro® o Hoan ey dese HikiHo SRS B Sead
dg@shah amdo 1.47 Sod 1.27 .80 Shob. (B0 Ewg) HiEas hesso g§jodto

Options:

1.4



2.¥

1.5
3. %

0.793
4. %

Question Number : 69 Question Id : 9032011870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Calculate the minimum thickness of the plate 1f the ordinary and extra-ordinary rays
coming outmixup to form plane polarized light, given 4 =60004", ye=1.562 . and

gL =1 552
Ferdes HOGM eargrin 86w Soank $8 JEE Side )Snsosl srottl =G

08 803 ot 858508
Options :

33x10%cm

3.3x 107%2.5
1. ¢

1.414x 103 cm
1.414x 107%2.%

3.8x10%cm
I8 =103



1.136 x 102 cm

1.136 x 10%2.%
4, %

Question Number : 70 Question Id : 9032011871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Calculate the specific rotation if the plane of polarization is turned through 26.4°,
traversing 20cm length of 20% sugar solution.

20% S8 (TeSeos® )ease08 20 20.80 &rdo [Hairdodtos? §)dedeo HOBEN
'ﬁgéo 26.4° 57008, DB (Fes0H B 0.

Options :
6.6°

66°

L]
=
=)

33°

Question Number : 71 Question Id : 9032011872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If dielectric break down of air is 3x10° volt/mt. The charge that a metallic sphere of

radius 1 cm can hold:
e Gng) DS 6% gowsd Dendd 3x10%olt/mt. 1 2.5 atgﬁvga e fPgod® Dex

406 sado Dend



Options :

33 nc
1. ¢
33 mc
2. %
33 e
3. %
10 e
4, %

Question Number : 72 Question Id : 9032011873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the wrong statement related to electric lines of forces.
D5yS | Dpetd Dogobod S5 Dites

Options :

No two lines of forces intersect each other
) BotH Bgen .8l 288 ndosy

1. %
The electric lines of forces intersect each other
DS B(& Tmen JnIGBserds eonorr dotron
2. %

Electric lines of forces start on negative charge and end on positive charge
DS B Open anerd)s s3¥0 Dol [Fogd Grd)s ed¥o S5 Jdaron

3.¥

4. %



The tangent drawn at any point on the line gives the direction of electric field
at that point.

093 e dothd 5 Adbals e e Hothi) e xS BED
Dok

Question Number : 73 Question Id : 9032011874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the distance between two consecutive equipotential surfaces which are diffracted
by one volt to a point charge of 1.5x10"* coulombs.

es &HF0 l.5x10'8§3°moa'1f3 $OA Both Hehdgsere sty 1volt SraENHS &fo

698 o oy trdo wod.

Options :
13.5m
13.5 &
1. %
12.28 m
1228 o
2_ W
1.22 m
9
3. -
9 m
o
4, %

Question Number : 74 Question Id : 9032011875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



An attracted disc electrometer has a moving plate area of 100 ecm’, separated by a
distance of lmm from the fixed plate. Calculate the force between the plates when
potentialdifference across them is 100V s,

88 580 dolgihet $68 Hof gereso 100(R.8)% 6 R se¥ H0D 1 &b

rbod® Both. DB i 100V FaYahS Do &) B Hifie aodod,
Options :

442x 102N
4.42 x 1075g

552x10° N
5.52 x 10757
3. %
10N
10573
4, %

Question Number : 75 Question Id : 9032011876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Dielectric polarization p is defined as

Al oAl &)seso G ABSSo
Options :
Electric dipole moment per unit length

QsPo8 SPE) Ging) DERS LD (grabso
1. %



Electric dipole moment per unit area
asro8 Javexo Gnd) Delgd Byghsd (grango

Electric dipole moment per unit volume

_— RSPO¥ F0eadBErS0 Gng) Diigd BYhs (grenso

Electric dipole moment per unit time
Ase0¥ P00 Ghod) OKyS Bxghid (grango

4, %

Question Number : 76 Question Id : 9032011877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Clausius-Mosotti equation for the molecular polarizability 1s given by:
e ((hE5es Homofods SRCHR Srdd H&8Bemo

Options :
a'zieofk_l:
| % s,
_'C':_ JE(_ll
7 +2
2. %
& fob
(r=—‘,—|
n \k+2
3. %
3e (kK ] )
g=2S| E—
n \k+2)

4.



Question Number : 77 Question Id : 9032011878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the WRONG statement related to magnetic Induction.
@ahIm0d (e $oDofodS S DX

Options :

F ¥
Webner / m~ = Tesla
3556 [/ &p2 = Bap

M

1. %
One Tesla = 10* Gauss
a8 8o 10% = el
2. %
Webner / m? = newton / amp. meter
3556 / ab? = HrgS /e90BHcH5. ab.
3. %
One Gauss = 10* Tesla
2.8 R = 1083
4. &

Question Number : 78 Question Id : 9032011879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



When a charged particle is moving perpendicular to the magnetic field which of the
following statement is WRONG.
53388 S0 eabkod Sed8 wonorr Hairdods Bod a86° 8 Somohod &)

Alalelz
Options:
Work done by the magnetic field on charged particle 1s zero

1 % TS FEo ope w38E Krmop 26 DA Ersgo

The path travelled by charged particle 1s Circular

w388 ¥mo Hedairstos® (Hardiod

2. %
The path travelled by charged particle 1s Parabola
53388 Bmo Jo Soairsedos® Hairdbod
3.¢
There 1s no change in the Kinetic energy of the Particle
. Zmo 118ed88° Srth) G0k

Question Number : 79 Question Id : 9032011880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two mfmitely long Parallel conductors placed one meter apart in vacuum caries a
current of one ampere in each conductor in same direction will attract each other with
a force per unit length of:

@508 il Doth arsosren &g Hiimodtorr a8 bt Brtod’ witind

ainmon. & BolofE’ &8 86" a8 wodahb Msd HodS' I8 i dso¥
TEIE DG 6 avo Dend. Syl

Options :

4x 107 N/m
4x 107 Soog/Bo



2x 107 N/m

2 x 107 Sg/8o
2. %
47 x 107" N/m
A x 107 ;6305.-"'3:)::
3_ W
27 x 107" N/m
27 x 107 F\‘sti‘h
4. ®

Question Number : 80 Question Id : 9032011881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The concept of displacement current was introduced by:
~ESgod DEgs e aid wRNg

Options :
Ampere
02006

1. %

Maxwell
BB RS

Faraday
PR



Fleeming
Al
4, =

Question Number : 81 Question Id : 9032011882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the power factor of a circuit contaming a coil of resistance 30(Q) and
reactance of 30() .
300Q) A5 Ew noain 30 Qe (H8E%HN Sendnds Hocho @nE) 48 susHn Densd

Options :
1
2
1. %
1
N2
2.

bq|&n

Question Number : 82 Question Id : 9032011883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The P-N diode cannot be used as:
P-N &@rE 628 H28oeth
Options :

Rectifier
by =1 ﬁ:é@riﬁs%

Switch
?355

De-modulator
& —5rtH5eb

amplifier
égéa’m

4.

Question Number : 83 Question Id : 9032011884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Positive Feedback is used in

Y HIGDHEm OIS FHEt

Options :

amplifier
égém

1. %

2. %



oscillator
&Eerdo

Rectifier

DEBEBS

Voltage regulators
.ﬁngﬁ o008

Question Number : 84 Question Id : 9032011885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Zener diode can be used as:

26 EarEs B8 arthaeh

Options :

current regulation
g00én Rdhol@dne

1. %
voltage regulation
P2 Dcho®re
2. ¢ y
amplifier
SNBBo
G
3. %
oscillator
Ee¥o



Question Number : 85 Question Id : 9032011886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Production and detection of electromagnetic waves is done by:
iefgeiaheod Soree samsSo Hbak §7Ho & H6880 mroe DeHh)

Options :

Magnetostriction method

@Cﬁ}c%"}é(}é NETeses z::.ge‘ia

1. %
Kundt's tube method
Lo&fPi0 DS
(5] (A (A}
2. %
Davison-Germer experiment
GBS )b [H&rro
3. % )
Hertz experiment
_E:'J':'g&g Eslovridatel
4. v

Question Number : 86 Question Id : 9032011887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The binding energy per nuclear for C*2is 7.68 MeV and that for (** is 7.47 MeV. Calculate the
energy required to remove a neutron from (2 is.

WEe08 SrBafrs wogfs 88 (% 7.68 MeV 08ckn (% 7.47 MeV. 28 Srjérad
(" 50D Fonodei8 s50hE 48 Densd

Options :
2.10 MeV

4.95 MeV

2. &

7.11 MeV
3. %

3.35 MeV
4. %

Question Number : 87 Question Id : 9032011888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The packing fraction significance is
B0EEBE H5En EnY) (-E0esS

Options :

Negative packing fraction implies nucleus is highly stable
AV HoHOEEes Ao Solss %iﬁ@"ﬁ@; 0P 006
1.¢

Negative packing fraction implies nucleus is un stable
emeseE)E o5 SEsm AR So(t58 @%6@5&‘& BeDaNEDOH
2. %



Positive packing fraction implies nucleus is stable
) H058E5em AR Boltss ?gé@ﬁ&?& ESY RS el

Packing fraction is independent of nuclear stability
505)BEBe HomDE Hdain SolsE Hoo8 gy Somogo alnY)

Question Number : 88 Question Id : 9032011889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Determine the reduced mass of electron in hydrogen atomM=mass of nucleus of hydrogen
atom M= mass of electron.
6D HESFmHEN oS Soaoold Farsbod [Kioed (1) Seshod.

M = P(E°aS S6smme) S0 (o8 m = Jeigs (ioe.

Options :
M+m
H=
M
1. %
M—m
H=
M
2. %
Mm
U=
m-+m
3.¢¥
_omM
(m+M)*



Question Number : 89 Question Id : 9032011890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If ‘n’ represents principal quantum number. the energy of electron and its distance
from the nucleus of hydrogen atom are:
(Bers 520b Sogy ‘n” @S, TrEas HtEras) Sogto Hod deigS 43

0860 BEBo denaen

Options :
—13.6 3 o
E = eV 1, =0529n" 4
n
+13.6 )
E =——eV r,=0529n" A
2. F-
—-13.6
E, =—s—eV r,=0529n 4
n-
3. %
=130 : A
E =——g¢V ; r,=0529n> &4
4. v i

Question Number : 90 Question Id : 9032011891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Binding energy per nucleon 1s maximum for
DS°08 BolBah wogfs 8 KoPEm ¥OS Hwreso

Options :



Iron

e 8000
1.
Gold
OS5
2_ W
Silver
06
3. ®
Copper
oeh
4. ®

Question Number : 91 Question Id : 9032011892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Larmor precessional frequency of an electron is given by:
&m%% @n¥) b HBEBes D)0 Dendd

Options :
: eB
}‘ ol
dmm,
1.
: eB
Je=
2mm,



f, =
£ 2m
3. %
. e
.Jflr) =
2m B
4, ®

Question Number : 92 Question Id : 9032011893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true for wavelength ( A min) of X-rays.
X-B8eame) écﬂ;‘;l Telolat Q%ﬁg (4 min) 50206008 as) DB

Options:

A min depend on the nature of target material
A min Dens 08 Horfop eErEHiod
1. %

A min 1s independent of applied voltage

- Amin Hend eHHbS TGP egrsHs

A min does not depend on the nature of target material
Amin densd ér58 Jorfon @ErBHE
3.v

. 12400 .
A mmn=——A°

4, ®



Question Number : 93 Question Id : 9032011894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ruby Laser was first invented by:

58) Besb g Sndd BrHse Bt

Options :
Einstein
0555

(9]

1. %

Ali Javan
@ PN
2_ W

Theodore Maiman
BRrEE DS

William Bennett
DOchHsD BIES

Question Number : 94 Question Id : 9032011895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the de-Broglie Wavelength of an electron which has been accelerated from rest to a
potential difference of 150V.
Qoo 8 0w 150V FEYEHG Bl &m0 3063 0SS G A& dvor

g0 Denid

Options :



1A°

1.25A°

1.73A°

12.25 A7

Question Number : 95 Question Id : 9032011896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Energy operator is given by:

38 00(|8adH sH8EW

Options :

—ithV

hct



ithV

Question Number : 96 Question Id : 9032011897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
One Curie is equal to:

2.8 éﬁgfh Densy BB HSrSo

Options :

3.7x107 dis/sec

’| e
1x10°® dis/sec
2. %
3.7 x 10*% dis/sec
3. ¥
1 x 107 dis/sec
4, %

Question Number : 97 Question Id : 9032011898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following crystals have Largest Symmetry
Bob ES° w0 ,HSHD IS 5Bo 26

Options :
Triclinic
S
1. %
Tetragonal
BErA"SS
2 %
Cubic
nE
gﬂ'ﬁwé
3.
Hexagonal
Bl
4, %

Question Number : 98 Question Id : 9032011899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following particles obeys Bose-Einstein statistics
SR-03S FrogE FROD @HHo0P Eeren

Options :

Leptons

E@‘aﬁﬁ

2.¥



Mesons

e

Baryons
ﬁﬁdﬁ:ﬂ@

Hyperons

FEHoeR)

Question Number : 99 Question Id : 9032011900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the mass number ‘A’ of a nucleus whose radius is r = 2.71 Fermi.
Givenrg=13x10"m
So|esK GG =271 by Sreto @) SBErE grvo ‘A Dend od,

ro=1.3 x 1058y,

Options :

8
1.¢

6
2. %

4
3. %



Question Number : 100 Question Id : 9032011901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Formula for Lattice energy of the crystal
@80 ango ereodo €88 Jetyer

Options:
. —Ae’
U, =—2°
1. % :
— Adé* | 1
Uy = 1—— |
I,':, \ mn
2.
)
Ae | 1}
= |
I \ )
3. %
. Ae| I
E-'IO = 1_ |
Ip M
4, %

BOTANY
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Question Number : 101 Question Id : 9032011902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which bactermum causes syphilis disease in human beings
Sr89e’ BHOT B0 SeniiED wrEbako

Options:

Clostridium
E2&dbo

Treponema
(E&*5e

2. ¥

Neisseria
D)Base
3, %

Corvnebacterium

=85 rE8a%h0
4, % %

Question Number : 102 Question Id : 9032011903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Example for Photoheterophic bacteria
PEFrEFEHE ofocrd e

Options:

Rhodospirillum

_— 5'55'5@55.1&

Chromatium
(Esirdato
2. ®



Beggiota

AT
3' % i
Nitrobacter
F(&5%rED
4.% = o

Question Number : 103 Question Id : 9032011904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Father of Phycology
@T@é SCoo¥) BT
Options :
Suxena

o
1. % oJJu‘\‘]E"

Fritsch

DeBary

3 % &8

[ eevanhoek
® o= n.l W =

Question Number : 104 Question Id : 9032011905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The first discovered virus 1s
I0EEFBT SHitH) 8D
Options:

Influenza
% SO

™V
, 8059

HIV
R ed

Rabies

x OO0

Question Number : 105 Question Id : 9032011906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The structure which is responsible for nitrogen fixation mn Blue green Algae 1s
20 o @Eéé‘s B(ged $BLESD i $8r0d Qomemo

Options :

Hormogonium
Kﬁﬁséﬁsﬁlofoo

1. %



Akinete

eiJed

Heterocyst

PP ERD

cap cell

TR WO
L=

Question Number : 106 Question Id : 9032011907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Pigment, which 1s responsible for red colour in Rhodobhyceae 1s
EETphE" 263 Botvd Ko s¥mdy $ES0
Options:

Phycoerythrin
25°06068

Phycocyanin
2570

Carotene
B5°A5

Xanthophyll

52086



Question Number : 107 Question Id : 9032011908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which Algae exhibits “diplohaplontic life cycle™
O ©TE° AgFLrarodE B DBS R (HE8)nod
Options :
Volvox

=
1. % SR 57

Polysiphonia
) DFEDATe

Oedogonium
SEAAn0

Ectocarppuis
DE5)D

Question Number : 108 Question Id : 9032011909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sexual reproduction is not found in the following fungus
& (Bod HorRE® Boh¥ [HExS)8 E0DOSD

Options :

1.4



Cercospora
Blepiuaies

Puccinia
e

Albugo
WD)
3. %

Saccharomvyces

FgBIDD
4, ®

Question Number : 109 Question Id : 9032011910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Litmus test dye 1s extracted from
DR BY B Hoob Jo|iidrotntheod

Options :

Parmelia
&@@aﬁv

Roccella
5'5?9.533

2. %



Leonora

Dm0

Usnea
eaape

Question Number : 110 Question Id : 9032011911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The wonder drug ‘penicillin’ is obtained from
)OI’ O o Tigo &9 %08 ofod

Options:

Penicillium chrysogenumni
w)dabo (EFES0

Penicillium expansum
2NOAD0 DG

Penicillium notatum

Ydavo FGdo
3.

Penicillinim Citrinum
2Dbo HEBID

4. %



Question Number : 111 Question Id : 9032011912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Embryo formation was first observed in
Soo YKo It HodosSnlod

Options :
Pteridophytes
B8E72eN

1. %

Thallophytes
76 28
2. #
Bryophytes
&R
3. v
Spermatophytes
G2
4, ®

Question Number : 112 Question Id : 9032011913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Father of Palaeobotany
FOTrE 0l Herodoik

Options :

J.C. Bose
3.2, 55

1. %



Birbal sahm
gjﬂﬁg}@f EPE.T&

2. %

MOP Iyengar

- 0%0.2..5 edhrorred
3. % =

Spornee
DA
4. %

Question Number : 113 Question Id : 9032011914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The juvenile stage of Moss plant 1s
Toi J¥) Dok erertss

Options :

Protonema

Corates
1. %

Sporophyte

L x J0RE

Gametophyte
= = I Y
AP e

Prothallus

.
L o



Question Number : 114 Question Id : 9032011915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The pteridophyte that 1s used as biofertilizer
£5 ABH™ BEArROD PBEPE

Options:

Anabaena
eo=doe

Nostoc

Fern

Question Number : 115 Question Id : 9032011916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The ploidy of endosperm in Gymnosperms 1s
—..; =
237 n::DJEéﬁ:eﬁ‘s do&® )0 o) &6

Options :

1.+



Haploid

Faron
Diploid
&aron

2. %
Triploid
| Bont
3. % '
Tetraploid
4 % BEPsront

Question Number : 116 Question Id : 9032011917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Ephedrine’, stimulant of nervous system 1s obtamed from
T8 B0 aBaNtT DPEET H0d ©hod.

Options :

Angiosperms
AEroR2dr=0)

Fungus
5 % POND

Bacterium

arE80%0
3.8 R



Gymnosperm
23

4. &

Question Number : 117 Question Id : 9032011918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The fossil in which the external morphology of the plant part 1s cleatly visible can be
termed as
e fido @) =R AErIOR)ROm Q%03 S s 'ﬁJE"éﬁﬁ’h‘.’n )
Options :
Casts

SeReD
1.¢ =

Molds
@t‘ﬂaw

Compression
Lo(@&AS

Petrification
EERS

Question Number : 118 Question Id : 9032011919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



“Species Plantarum”™ book was written by
‘arden arotrdo’ PJsR) SHoT

Options :

Theophrastus
BTe(HTD

Benthom & Hooker
DoKHewn & Fuo=Xb

Linnaeus
85@_&35

A.P. Decondolle
2.2.B=IEY

Question Number : 119 Question Id : 9032011920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Aggregate fruit 1s found in
Sodo Dot EoiTdadod

Options :
Apple
L x GRS

Custard apple
VTHO0



Pineapple
obd

3. %

Wood apple

4w D6 dShd

Question Number : 120 Question Id : 9032011921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Central National Herbarium of India 1s located in
=805 Zolt§ 38)BCaH0 ©F moAdie KK )8

Options :
Hyderabad
rSTers
Dehradun
QFErS

2. %

Kolkata
==l 7
Lucknow

g

Question Number : 121 Question Id : 9032011922 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Satin Wood” yielding plant belongs to the family
“PES DG BILDEF) Fwk) LenoxrdE TodKs.

Options :

Santalaceae
0T

Rutaceae
B0t

Fabaceae
VRN

Verbenaceae
SIS

Question Number : 122 Question Id : 9032011923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The edible part m Pithecalobium dulci fruit 1s
HE=S*Daho K8 Heod® BIBAL grifo

Options:

Seed
D&EH0



Endosperm
Q}D&'S?JJSé

Aril
28BS

Perisperm
2065

Question Number : 123 Question Id : 9032011924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The type of fruit commonly found in Cucurbitaceae 1s
5THE® Jgrdrorr E0oB Hod Elo
Options :

Pome
)

Pepo
Bl

2. %

Berry
é@ﬁﬁ: P00

Drupe

SoZhe oo



Question Number : 124 Question Id : 9032011925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Microscopic seeds are found n
©8 DS Ddvren SIS ZADZ=aw

Options :
Poaceae
SPGH%

’|_ )
Cyperaceae
8%

2_ w
Orchidaceae
I ayInte

-

3. ¢
Asteraceae
B 0™

4, % ™

Question Number : 125 Question Id : 9032011926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In a tree ecosystem pyramid of number 1s

Bep e pgtel>d é&ééeﬁ‘s Sogy T HEDHE Bdotnod.

Options :



Upright
Qe

1. %

Inverted
S5H085
2.9

Straight

~Bore

Sometimes up and sometumes inverted

4% ST Derdorr hdain QL 881088

Question Number : 126 Question Id : 9032011927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The procers of changing communities in a definete sequence i1s known as
Eaﬁwvéﬁ}ém?ﬁ: o8 082 Eoos® $rd)) Bothbd & Do beosd.

Options :

Evolution

BBoEho

Vanation

agcﬁ‘iéo

Diversity

3. % 2850



Succession

“’" el
4 aﬁéfoéwc

Question Number : 127 Question Id : 9032011928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The pioneers of xerosere are
£6°%08 @¥) Hrgess e
Options :

Mosses
Teeoen

Ephimeral herbs
©eNsOY hemen

Lichens
BE%

Shrubs
srsen

Question Number : 128 Question Id : 9032011929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The direction of energy flow 1n an ecosystem is
SogHde HHPS° G- (Hariro G B



Options :

Unidirectional
DEBTHE

Bidirectional
ﬁgﬁaﬂééﬁ

Cylic
3 % wodhsdo

Any way
J@T Srgo

Question Number : 129 Question Id : 9032011930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Seed dormancy can be relieved by using this phytohormone
& PPFEN edd@rhostio o dgTe RS Kol aidivo Srowsiy)
Options :
GA;



Question Number : 130 Question Id : 9032011931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The merstematic tissue, which 1s responsible for secondary growth 1s
B8 HRE SeSeNEdy Qgrarierisl

Options :

Vascular cambium
(B8 Deresyiea®

Cork cambium
JodH Dgresyierd®

Phellum
TotHh Eoreo

Vascular cambium & Cork cambium
(3865 Dgreezyleri3® HBAsw Doth Dararyerdd

o

Question Number : 131 Question Id : 9032011932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The living mechanical tissue 1s
£5 airo|@% Xoereo
Options :

Xylem
=B0a)

1. %

Sclerenchyma
Q& Eereo

Collenchyma
”:f::;aﬁssa ¥ezre0

Parenchyma

n aﬁ:ﬂ;eﬁo Epore0

Question Number : 132 Question Id : 9032011933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The latex of this plant 1s useful for the preparation of chewing gum
& k) Co¥) Bt Fren tromoh Kob $5r68 aITrRHHH08

Options :
Hevea brazilensis
200 (D2BYT

1. %

Ficus elastica
';‘.gﬁﬁ .5}@%?



Cryptostegia glandiflora
B R=air rpolsfo

Manilkara zapota
5’3350@(;6 e3glPer
4.

Question Number : 133 Question Id : 9032011934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The study of the plant age confirmation by counting annual ring i called
8% sorted) 8805580 orroe Sn¥e 20K Aoedes wirddio
) [ ] by Q o
Options :

Dendrology
Eo@aﬂé

Dendrochronology

Gol& B red

Forestry
3R

Silviculture
00Eend

Question Number : 134 Question Id : 9032011935 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pollinia are commonly found in
SO0 Fosor VS Vot

Options :

Orchidaceae
@5&3?&3

Asclepiadaceae
S WDITED
(et =

Asteraceae
S oY
5]

Orchidaceae & Asclepiadaceae
©B)GY DB ©YHATPER

Question Number : 135 Question Id : 9032011936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Sexual reproduction in plants was first discovered by
SwZes® Boh¥ (HErE)E EHTSndod.

Options:
P .Maheswari
% S E8

1. %



G.B.Anmici

2.8 oDHd

Rudolph camararius
B LSBT
3. v

Hoffmeister
FH&038

4, %

Question Number : 136 Question Id : 9032011937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Amphitropous ovules are found in
©0(EPHD womren X0HJom

Options :

Ramuculus
Tﬁﬂﬁ]&ﬂfﬁ

Butomus
05D

Dolichos
XD

Opuntia
2.0 A5



Question Number : 137 Question Id : 9032011938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who proposed NPC system for pollen classification?
DA aﬁéﬁiﬁm P90 Om.6.% é&ééﬁ: ARB (DETFHoTE?

Options :

Erdtman
a§@5

Nemea Grew
s (S

williams
3}8{:363.5:‘3

Strassburger
P86

Question Number : 138 Question Id : 9032011939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Double fertilization means
oS OBIAS wol

mﬂ—

Options:

1. #



Fusion of male gemete with egg cell
108 Eeso8® Hoif ol Eeand

Fusion of male gemete with Secondary nucleus
2Zoib &BohB8® Hif el Kook

2. %

Fusion of 2*¢ male gamete with secondary nucleus
, NEorb BgBahBE 28 Hoif RS Loowd

Fusion of male gemete with synergids
RBBE)E" oK el @) Eeoond

Question Number : 139 Question Id : 9032011940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The chemical composition of pollen tube 1s
DOHE &0 Ssic)) BIoHS Xt

Options :

Spore pollenin
58 &8I

1. %

cellulose and suberin

Deyd’S $Hdasd HTBI
2. %

Pectin-suberin

BN XT38
3. % -



Pecto-cellulose

2 Deor S S
4.¥ - =

Question Number : 140 Question Id : 9032011941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Mitochondrion 1s treated as semiautonomous cell organelle because of the presence of
DE0BB0HS B9 s¥morm RrobhoHang OAY Serolin m doKBoNnth&0s.

Options :

Respiratory enzymes
%‘D;ﬁ&'sr‘é DOFE0en

’| w
DNA
- &.c0H5. 2
Cristae
&3
3_ W
70s ribosome
70s _E_ﬁszé‘s&
4, %

Question Number : 141 Question Id : 9032011942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Plasmids are generally found in
SRR Frprdeor SRR
Options :

Bactenal cells

:Péao‘foﬁ Xegeen
1.9

viruses

- JBRen
2. % =

yeast cells

- éag Xegeen

protozoans
PP PS5 Sen

4, #

Question Number : 142 Question Id : 9032011943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of chromosomes 1s being mamtamed constant because of
s Do Sogy HBorr D Erodntheiod

Options:
Mitosis
- DT

1. %

Amitosis
oNEELD



Meiosis I
3 v &S I

Meiosis 1T

drda 1I
4. %

Question Number : 143 Question Id : 9032011944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Polytene chromosomes are found in
FOES B TrSPiven I&S° EoirSaron

Options :

Salivary glands msects

Boyee
| ¢ TTEO [Hogoen Séosren

Salamanders Salivary glands

FoDol ererae (foghen
2. %

Human beings salivary glands
3 % rNYe erere (odhen

Monkeys salivary glands
£5he orere (Hfolden
4. %

Question Number : 144 Question Id : 9032011945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Semu conservative replication of DNA was experimentally proved by
8.053.2) Gg) 2 E5)508 BHEGS HArKELorr Arbonlod

Options :

Hershey and Chase
0, BAkn TN

1. %

Watson and Crick
Teé)e Baiw (EE

Meselson and Stahl
33?0@‘35 SoBasw %;6
3.

Hugodevriese and Correl Correns
FoTBH6D $Bcs» £8S EBN)
4. %

Question Number : 145 Question Id : 9032011946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Plasma membrane 1s semipermeable because of
L) DoES 2EBEIS JohEod

Options:
Lipid layer

OHE &8
1.¢



Protein layer
ES 8

Lignin
O
3. %

Cellulose layer

?J&:::;éeeg ale
4. %

Question Number : 146 Question Id : 9032011947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Replication of DNA takes place during this sub phase of mterphase
&.00%.2) @) [588m50 3068 B God) 8 888 SdderR) Bh%otnod
Options :

Gi Phase
2 1S

(3; Phase
2 2 f

S phase
D F

Anaphase
OT° DR



Question Number : 147 Question Id : 9032011948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following plant shows mcomplete dominance with phenotypic ratio of F2 plants
eloln 33353 F2 5335\;&: Snbiel) K)&'%)g@s s.-mo?’.gyng @&é@;@& frEod

Options :

Pisum sativum
295 $85%

Oenothera lamarkana
&HS°BE 8

Mirabilis jalapa
oD a3

Arabidopsis thaliana
©SDEMD DA

Question Number : 148 Question Id : 9032011949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

AC/Ds system m maize was discovered by
o) $°E° AC/Ds SHS[K EHoPTned



Options :

Mec Clintok

Mc ZoerE
1. %

TH Morghan
TH Zroen
2. % !
HG Khorana
3 % HG ﬁgmm‘
Ochava
_ Lo
4,

Question Number : 149 Question Id : 9032011950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Epistasis means
QDT @0l

Options :

One gene acts on another acne
28 eskioged) 08°% eadosd P BB

~
1. % o

One gene masks another gene
2.8 ekopd) $oB°8 e Sooorh [hod
2. 9%

Both the genes are suppressed
Both wyrden ©edIchaieTow



Both the genes become dominant

4 % Dot aaﬁ:;@w @:ﬁma’zééo DotHT=on

Question Number : 150 Question Id : 9032011951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Law of domunance and recessiveness 1s the results of
©dBE0 Hdcn 8T KK ) SLo HDTe

Options :
Back cross

.
o=k oo
i

1.%
in complete dominance
el @E‘,:E’Jé;céﬁ

2. %
Dihybrid cross
SErldG

3, %
Monohybrid cross
TG =R

4.9 =

Question Number : 151 Question Id : 9032011952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the followmg experiment 1s useful to prove as Phloem 1s meant for translocation
of Solutes.
Padd (ErR)67EAS Fertl) E0 &x&é%o%& o9 srhoswRd Bod 6 25

NI Vel

Options :

Crescograph
- @-Eéj‘gLﬁ“qu

Ringing experiment

Bofoh [D&iio
2. ¥

Munch Experiment

- S0oa (Do

Hill reaction
L x 36 BATES

Question Number : 152 Question Id : 9032011953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If one chromosome pair is missing i an organism if 1s called
D 258 ErEtD moborr Hevsod ﬁogé"; Ay

Options :

Monosomic
SeSEAEE

1. ®

Trisomic
- EBE



Nullisomic

SDPFLE
3.9

Euploidly

Question Number : 153 Question Id : 9032011954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
This element deficienry causes “little leaf disease™ in plants.
& Sre¥o &%o 5305&@55 AL TB'R £ON08.
Options :

Zn

4. ® Ca

Question Number : 154 Question Id : 9032011955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



“Triple response’ hormone m

“BHS By g;psﬁég &t
Options :

Auxin

@%QE

Gibberellin
Aex08 2

Cytokvnin
RIS

Ethylene

26903

Question Number : 155 Question Id : 9032011956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Nictrogenase enzyme 1s found in
3E°23F 0BDH SVS° KPR,

Options :

Nostoc

- SPE
1. % &



Rhizobmum
Qﬁfﬁkﬁbo

Azotobacter

@éﬁ&ﬁ:ﬁéS

3. %

All

A(evhy
4.«»«"&?‘\’L

Question Number : 156 Question Id : 9032011957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following plant Cs cycle takes place m merophyll cell and Cy pathway n

Bundle sheath chloroplast
8ob Iwdeé’ Ho DEHE 16 Dby Ergod’ abibiod nobé E¥o EFAET

Options :
Rice
38

Maize

205)E" WD)
2.¥ I

Euphorbia
evvu oo ovey

Ananus
BTN



Question Number : 157 Question Id : 9032011958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In aerobic respiration oxidation of one glucose molecule produces
HEAE @;ﬁ@cﬁaéﬁ ] .’ﬁggﬁ'sﬁ w5 %) @é{gﬁeﬁm 688 ©HHod

Options :
8 ATPs net

|, 8 28 DY

36 ATP net

36 d&de DS
2. ¥

40 ATPs net

5 x 40 8o 58

30 ATPs net

30 2&he ES
4. %

Question Number : 158 Question Id : 9032011959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The enzyme. which 1s possessing highest turnover number

SRyl &BY58 Sogrdy X9 &) JoBad
Options:

1. %



Catalase
2éres

Pepsin

E}&H}S

Kinase

g
3 % Scdeo

Cromeraoe
(S vetovss
4, %

Question Number : 159 Question Id : 9032011960 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Eukaryote with anaerobic respiration is
TO0BErE TH(BHE® LRl ahrsB@reT

Options :

E.Coli
=.559

Saccharomyces
o TR DD

Anabaena

wodoe



Arabidopsis
&155)5533(35

Question Number : 160 Question Id : 9032011961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

First discovered enzyme 1s
S0 Bl doBEa
Options :

Diastage

Sasr RS

Dehydrogenase
&3rE523%
2. %

Zymase
SR
3.¢

Urease
GBS
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Question Number : 161 Question Id : 9032011962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The hormone Cholecystokinin is secreted by
S°ORRBIS &I FBYS e (D08

Options :



Small intestine
AR ER 85
1.¢ A

Duodenum
Eﬁ}t:jaaiﬁj

Pancreas
308D

Cardiac Stomach
sugdﬁnvg =Tad%)

4. %

Question Number : 162 Question Id : 9032011963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find the INCORRECT pair from the following?
1808 & o {505 238l Bohod?

Options :

Gastric glands — Oxyntic glands
ﬁog@g (Hfothen — =808 (Hoghen

1. %

Peptic glands — Amylase
238 (Hoghen -~ B
2. %

Oxyntic cells — Musin

8,085 Seren - 500D
3.¢



Parietal glands — HCI
arsbed (Hoghen - HC
4. %

Question Number : 163 Question Id : 9032011964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out the correct statement from the following?
Bod 78 Sod DN (BDBLDD BEDHPSe6

Options :

Maltase is present in the saliva of mammals
§5ore ererme0s® SPED Gotnod
1. ¢

Erypsin is present in the saliva of mammals
d5tre ererseos® DBS S0tnod

Ptylin is present in the small intestine of mammals
8o OF) (Brbes® 2OS Gotwod

Maltase is present in the small intestine of mammals
88ore 95 Biovos® e Telnleln

Question Number : 164 Question Id : 9032011965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The cardiac cycle in human beings lasts for seconds.
SrSes® Hod o DER arén Sotnod

Options :
0.2

1. ®

0.4

0.6

0.8

Question Number : 165 Question Id : 9032011966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the INCORRECT statement
56508 SShotsH EhirsSod

[=4]

Options :

Contraction of heart chambers is known as systole
oG Hehe So8%aed) RS eotrth

Complete systole diastole of the heart makes one heart beat
oG Gg) Jr8 JPES EoirPS el Smdah $os5H T5os

3. %



Sino auricular node is represented as pace maker
DS wb¥geb F& HIDEET SrdosSathEos

Chordae tendinae are present at the base of the system aorta
SVBoBI HEP ereEnd) G@ng) B0 B somom
[ B o e 0 s} o
4. &

Question Number : 166 Question Id : 9032011967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a ureotelic animal?
Bob BE° crd B8 o) A6?

Options :

Frog

o
)
(%)

1.4

Tadpole larva
RGNS erom

Calotes
getedy
3. ®

Pigeon
SPEYBo
4, %



Question Number : 167 Question Id : 9032011968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The condition in which there is an increase in the rate of urine secretion is
called as
el DS Béw DAY, 50387 00Tt

Options :

Isotonic
oeBeOE

Diuresis
GANTHIR

Hypekalemia
P nEBr

Hyponatremia
e Eshaie

Question Number : 168 Question Id : 9032011969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT one from the following options.
Bo& oo Hod Dol dohE ol

Options :

1. %



Skeletal muscles — Striated muscles
@%Eﬁ[}&ﬂfﬁ Loddoren — L;@EE Yodioeen

Smooth muscles— Unstriated muscles
ﬁ}ﬂ&eﬁ Bodoren— @5@55 godoren

2. &

Visceral muscles — Striated muscles
DES Bodoren — @@5 ¥odioeen

3.¢

Cardiac muscles — Striated muscles
?Q@i}?g Bodoren — L‘;EE Booren

4. %

Question Number : 169 Question Id : 9032011970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The striated muscle fibers are separated by a thin layer called, the
R86 Boti Jaben 3 Jendd FE& I Iahaderon.

Options :

Endomysium
Do DEHo

1.4

Fasciculie
RErgD

2. %



Epimysium
wadbhcho

Perimysium
2680hadho

Question Number : 170 Question Id : 9032011971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The period of time from fertilization to parturition is called
Pobstn Hob [HHNo BB 63 serd) 087

Options:

Proliferative phase
N8es &5

Luteal phase
Svalaloviloling:

Menstruation phase
anérHo &3

Gestation phase

ﬁéﬂ]mﬂfﬁm (]
4.



Question Number : 171 Question Id : 9032011972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which hormone causes contraction of gall bladder to release bile juice into the
duodenum through the hepato-pancreatic duct?
arakis -arol8airdS 6§ oo KRBIRE’S b SR b JaheR8 mdapKb

Ging) HoEP D8 S“Eﬁﬂaajjtﬂjpg 5’3565&5 267
Options:

Pancreozymin
Sm0(8° R8s

Secretin
5HEAS

Cholecystokinin
geﬁ)&}ﬁg‘ﬂ;%ﬁ)ﬁ

Enterogastrone
QO e(ErS

Question Number : 172 Question Id : 9032011973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The events of the citric acid cycle, electron transport chain, and oxidative

phosphorylation take place in the organelle of the cell.
2BE airdE Higo, &)@Ls;ﬁ Barege enid sBaso @%\Jéém FDTAS @) Soznerden

6 @) & abihaon

Options :

Chloroplast
553G

Mitochondria
eSPseo(Gase

2. &

Golgi complex
) se0R8)

3. %

Ribosomes
BE s S0en

4. %

Question Number : 173 Question Id : 9032011974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

---------- [mmunoglobulin prevents the adherence of bacteria and virus to the
epithelial cell surface?

angTramds 2HHIANS 650800 amdbcir Hbah 365 yal
oo ABG0H?

Options :
IgA
1.



2. %

IgD
3. %

lgG
4. ®

Question Number : 174 Question Id : 9032011975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Interferons act as -—----———--mmmmmemeemeee
=lelhle)le 2Ny

Options :

Antibacterial agents
arod w%ﬁoﬁjﬁ QEOED

1. %
Antifungal agents
oiod HoiS d@oy
2. %

Antiviral agents
airod3ES DFoky
3. %



Antifungal and antiviral agents

,  Orol Hord mbakn airodFsS aEoty
4,

Question Number : 175 Question Id : 9032011976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following help to boost immune response, thus helping the
vaccines to work better?
T yven e ST BB (H8:)085% DoSE8 8o BHE IO

DePabatnEod?
Options :

Preservatives
ﬁoéémsvdja:?ﬁ}

Antigens
airoBEN

Stabilizers
20Be:dy

Adjuvants
DeBchthen

Question Number : 176 Question Id : 9032011977 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which cells are the major components of Cell Mediated Immunity?
Kea—s0555350 BT E 48 G (Hoes grren @ eween?

Options :

TS cells
TS Begeen

TC cells
TC Bearen

TD cells
TD EZeseen

TH cells
TH ZBezeen

Question Number : 177 Question Id : 9032011978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following thymic hormone induce deoxynucleotidyl transferase?
Bob HS6° o o0 YN GAr) SRBAFSRS (r) F0NND (ONR0H?

Options :

1. %



Thymulin
F50DS

Thymostimulin
FargEndS

Thymosin
Baro

3.¥

Thymopoieten
Sarsfondo

Question Number : 178 Question Id : 9032011979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which immunoglobulin exists as a pentamer of the basic four chain

subunits held together by disulphide bonds?

B98)6 aogre T E08 Sodads (aRgind et 31 54 dirdie Dotrbr o 5
s amdS &06?

Options :

Immunoglobulin M

| BagS L andsS M

Immunoglobulin D
2SN endS D
2. %



Immunoglobulin E
SagS L andS E

Immunoglobulin G
g Tends G
4, %

Question Number : 179 Question Id : 9032011980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Auto-immune hemolytic anemia is an example for the
i -aEegd Trardds eddak & 28 &oesrdn
Options:
Immune — complex mediated hypersensitivity

| SrOTs-Sosg-smand AsoRsso

IgE - mediated hypersensitivity
IgE - 50555883 350806

2. %
Antibody -mediated cytotoxic hypersensitivity
aSrodlard -DHBGHBE DEFerdE 5t B8
3.¢

Cell-mediated hypersensitivity
. S-BADHBE TSR BOE
4,



Question Number : 180 Question Id : 9032011981 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following methods is used to diagnose fetal disorders and
abnormalities in the chromosomes and genes?
Dotto Brfsen S0 Erdom Hodh ahHed® edrindos B0

8o A 0B a3@ARR0SDHH06?

Options :

Genetic engineering
2335 moasVBoR

1. %
Genetic counselling
2388 °®on
2.
Gene therapy
ey €8
3. %
Drug screening and Development
& (&yRoh sBakn Ak
4, %

Question Number : 181 Question Id : 9032011982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which cells can differentiate into all or any type of cells required in the body?
2 Eeren 30806 @B o) For O BEPS LoD 36 Dabite?

Options :
Unipotent
ST

1. %

Multipotent
2088

2. %

Pluripotent
S ety o]

3. %

Totipotent
P BDEBoeS
4.+

Question Number : 182 Question Id : 9032011983 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who proved that Sickel Cell Anaemia is a molecular disease caused by

mutation?
286 6 oMair @h Sngdhs Sy $i) Sr%ed b ol B Wirhowh?

Options :

Pauling

ar&oh
1. ¢



Karl Ereky
s°5a08

J.Lister
2.9:56
(4]

Waldeyer
Bchb

Question Number : 183 Question Id : 9032011984 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which animal is the first successful mammal cloned from an adult cell?
S5 S@o HoB §S Jahads Insd dachsoss 580 267

Options :

Cow
353

Dog
0¥

Sheep
N[0en



Cat

Question Number : 184 Question Id : 9032011985 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the Source of the enzyme ‘Bam HI'?
eran HI' 0o8& awg) shreo 280d?
Options :

Bacillus caldolticus 15t enzyme
PROR SPEPYED 185 JoBD

Bacillus globigii, 2" enzyme
erdeh AEDA, 28 dods

Bacillus amyloliquifsciens strain H, 15 enzyme
2rReD ©ihS* D8 T) (RowS H, 18 dogd

Bacillus aureus strain 3A, 15t enzyme
TR ©Bahd (Rons 3A, 18 dogm

Question Number : 185 Question Id : 9032011986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Solenocytes are used in ---——---
FBIT Den Y sHErRoSDEERD?

Options :
In Respiration
B BaHe®
1. %
In Circulation
DRSS
2. %
In Digestion
eég{_@,cﬁaess
3. %
In Excretion
&;’agéfﬁs
4, &

Question Number : 186 Question Id : 9032011987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find out the odd one.
Do AR Birdod

Options :

1. %



Tapeworm - Platyhelminthes
ARLUSREV L AFs ) eTa S

Aurelia — Coelenterata
G@BOGST — B Bodorér

Sycon — Mollusca
S0 — WO
3.¢

Leucosolenia — Porifera
S RPBRAr — PoPo°
4. ®

Question Number : 187 Question Id : 9032011988 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who coined the word ‘Protozoa’?
e’ E e @ Sl BB SHEERoTE?

Options:

Antony Von Leuwenhoek

@08 35 SRS
1. %

Goldfuss
APSHR
2.¢

\VVan Siebold
5 ﬁ)eﬁgé
3. %



Hyman
P50

Question Number : 188 Question Id : 9032011989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Elphidium is commonly known as
\Bahod Frprdaorne 8 Senard

Options :

Pore bearer
66 256
1.9

Barber pole worm
)6 S HHIo

Roundworm
ol HBMD

Jellyfish
2090

Question Number : 189 Question Id : 9032011990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Ephyra belongs to which of the following phyla?
o2oe 806 & T8 TohHe?

Options :
Echinodermata
QAT Goyer

1. %
Platyhelminthes
DAL elar)

2_ W
Mollusca
31}@&937

3_ F
Cnidaria
S eBdie

4.

Question Number : 190 Question Id : 9032011991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the common name of Alcyonium?
s EPAaHo @Y Ferdes DD JS0d?

Options :
Dead man’s finger
S0 R Jew

1.4



Brain coral
DD ISR

Sea pansy
S5 &

Sea pen
Ky 2R

Question Number : 191 Question Id : 9032011992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following species has cercaria larva in its lifecycle?
8ob 8BS oPAir oro dDSSEoS® & w88 Goh?

Options :
Schistosomamansoni

2REPe S
1. %

Taeniasolium
Sasr FhHa%o

Echinococcusgranulosus
DT ED eigsHD

4. %



Enterobiusvermicularis
0BBHEHD BOERerdD

Question Number : 192 Question Id : 9032011993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the common name of Dracunculus medinensis?
GBSneR DEIND @) JFrerden D DS ?
Options :

Guinea worm
ADOS D

bladder worm
SorelEedahy Do

dwarf tapeworm
Sotordey B HBHD

dog tapeworm
%% 85 Hro

Question Number : 193 Question Id : 9032011994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Rhabditiform larva is found in the life cycle of
od@3rh) e 208 J|Bos® EALH06

Options :

Trematodes
(B G

Cestodes
?oei‘;:;ﬁn}

Nematodes
RELaEe)

Cnidarians
R maTov st
4, %

Question Number : 194 Question Id : 9032011995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many nephridia are present in Indian cattle leeches?
PE8AH HHPHe word® ol IGBcsren samon?
Options:

11 pairs
11 axdbe

13 pairs
13 asden



15 pairs

3 % 15 a3¢ée
17 pairs
17 aéder
4, <

Question Number : 195 Question Id : 9032011996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Silverfish belong to which of the following taxonomic order?
2exb PR Bod HPETe (BrDE JobI6 D6H?
Options :

Insecta

é,@sn@
1.9

Arachnida

E-_ﬂonég_mﬂ

Myriapoda

Snbasrskee

Crustacean
@%&%5

Question Number : 196 Question Id : 9032011997 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Palaemon, which cephalic appendage has statocyst?
FBIPSE, O 2POE @G TRy Gob?

Options :
Antennule
cﬁﬁoﬁsﬁwéé

1.9
Antenna
cﬁﬁoaﬁg_

2. %

Maxillula
m%mrﬁ

3. %

Maxilla
s8yer

4, %

Question Number : 197 Question Id : 9032011998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the first larval stage in the phylum Echinodermata?
QOTToYEr ol pos® Intd eroy 55 A6?

Options :
Dipleurula larva
BRoer ero

1. ¢



Bipinnaria larva
D2 Bdir eroxy

Branchiolaria larva
[Erod@reroedie eroRy

Metacercaria larva
DEF VP eroR
4, %

Question Number : 198 Question Id : 9032011999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In hemichordates buccal diverticulum extends into the
SO S FHHBRe0 SB% DHB0N Soénok

Options:

Oesophagus
eTees

1. %

Trachea
%’D&é@ﬂ@’m

Proboscis
BTN
3. ¢



Trunk
208

Question Number : 199 Question Id : 9032012000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which type of symmetry is exhibited by the phylum Hemichordata?
POD rAETBEr TRo° @) BEDS Sstirdd (Hegosatéos?
Options :
Bilateral symmetry

BEBE SHETSS
1.4

Octalateral symmetry
SBLES HibrHd

Biradial symmetry
BOASHS HErHES

Radial symmetry
DBCHS Hebdrnes

Question Number : 200 Question Id : 9032012001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What is the type of coelom in Cephalochordata?
?Jq:,'m@’s‘ﬁséé.}ﬁ@s BandtS 8¥o HIHB?

Options :

Enterocoelomate
DOoETE EPhes

1.4

Pseudocoelomate
SRS ETSheS

Acoelomate
B TheS
3. 3

Schizocoelomate
4. % 2y Eb a5 sheS

Question Number : 201 Question Id : 9032012002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Find out the INCORRECT statement?
350500 (HELSH EHPH508?

Options:

Cyclostomes are jawless vertebrates
DEPen BBHen B SE3sTen
1. %

Placoderms are jawed vertebrates
Eab) $58 SEThseen
2. %



Reptiles are warm-blooded animals
56)5ren IHV-0GE soden

3.

Aves are warm-blooded animals
Da) IR -GG aso0dHen

Question Number : 202 Question Id : 9032012003 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following fish exhibits brachial respiration as an aquatic
adaptation?
Bob aBE° & T3 ewHonofdis eddtem [ErdchE sHBahd HEgnes?

Options :

Scoliodon
%%@D?D"G"E
1.¢

Protopterus
{@ﬁesﬁg.gejﬁ

Osteolepis
SREFBHD

Synbranchus
f0lErodn

4. %



Question Number : 203 Question Id : 9032012004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which fish exhibits gephyrocercal tail?
2 B 2B S D (H8GKn06?
Options :

Acipenser
e 90

Fieraspis
QCHTERNS

Polyodon
By lev vt

Chimaera
Baboe

Question Number : 204 Question Id : 9032012005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In frogs which of the following nerves arise from the crura cerebri of the
midbrain?
&, Sy DSOS Eroe 20 Hod Bob Stres® Ab eEH0H?

Options :



QOculomotor nerves
iéﬂé@ﬁﬂjﬂﬁjg Soeen
1.4

Optic nerves

ahE Hoeen
[
2. %
Olfactory nerves
(307es aeten
3. %
Trochlear nerves
(PEcHB Soren
4. #

Question Number : 205 Question Id : 9032012006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The only snake that builds nest for laying eggs is the
e 8 1R 080 BY arEn

Options :
Ophiophagushanna
ER@rerin Srayy

1. ¢

Bungarusoeruleus
pomrta LHDA



Viperarussel
Faoe 599

Bungarusfasciatus
20Mrda FPHCHED

Question Number : 206 Question Id : 9032012007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who described birds as “glorified reptiles™?
SHeH KOs SHQ)Trar 5t efBfometn?

Options :
J.Z.Young

1 % J.Zohoh
T.H.Huxley
-

5 ﬂ“S‘g
Salim Al
590 @d

3. %

Konard Lopez
gemﬂ-'é S nE

Question Number : 207 Question Id : 9032012008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The largest mammal is the
w82 850

Options:
Balaenopteramusculus

FBIF RO KRR
1.¢ =

Craseonycteristhonglongyai
BREVGED Grorrony

Loxodonta Africana

SENEPotr wdsear
3. -

Juramaniasinensis
ePTERTLIaTe ?\)EF\}{JE—}

Question Number : 208 Question Id : 9032012009 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the dental formula of elephant?
DD Ging) Sod HrEo nd?

Options :

1,0,0.3

1.4



0,1,1,3

2. ®

3,0,1,1
3. %

0,1,1,3
4. %

Question Number : 209 Question Id : 9032012010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“The speed or rate of cleavage in any region of egg is inversely proportional
to the amount of yolk it contains”. This law is called the
HHEN AP [Frodos® DOE Tne) Frio Boe Bin ob EIA &) H:d) s Faedd

DErarEos” dotnod. & Stpf) od Deoard
Options :

Hertwig's law
PG SE0

Pfulger’s law
QRO Sgo

Sachs’s law
5) :‘5%0



Balfour's law
e:nﬁgga'i 75%0
4.

Question Number : 210 Question Id : 9032012011 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An enzyme whose production is constant irrespective of the metabolic state of
the cell is called as .
26 Gwg) 258D $88° Soaotio Bhore a8\ Yorr 408 J0FHD Sz

Options :

Constitutive Enzyme
SPRRETIAS OB
m o
1. ¢

Repressible Enzyme
evedaahie oM

Inducible Enzyme
(20DosKe doE&

Effector Enzyme
IE6 DoB

Question Number : 211 Question Id : 9032012012 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

In humans, with only single ‘X’ chromosome results in
Srsgod’, o8 Earsina® 5006,
Options :
Down syndrome
&R Hol8%>

Turner syndrome
&%)5 bolEE
2. ¢

Edward syndrome

- 2B BoE D

Klinefelter syndrome

2o web Dol
n EA:. —

Question Number : 212 Question Id : 9032012013 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Z0O-ZZ type of sex-determination is present in which of the following?
Z20-ZZ 8%o Dol oedes 808 THE 26 sobH?

Options :

Butterflies

S et Sienen
1.+



Fish

2
L

Pigeon
srRBo

Snake
aranen

Question Number : 213 Question Id : 9032012014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the connecting link between fishes and
amphibians?
8ob >86° SHen Hdaky sabsore gl wdoges Dok AB?

Options :

Proterospongia
a6 FHonair

Peripates
2O DEN

Protopterus
@RS
3.v



Petro myzon
20|€3 ELoetS

Question Number : 214 Question Id : 9032012015 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total gross productivity minus the energy used up in the metabolic
process is called the
ndo Hpe samidd PIO 2518ch [ﬂlgdﬁ}é’s M@rAoSE S8 @03,

Options :

Net community productivity
DEB By SamSES

Gross primary productivity
Qre (S eanEEs

Net primary productivity
N8B (Erfians damEs

Secondary productivity
Enfah sesss

Question Number : 215 Question Id : 9032012016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is an indicator of water pollution?
800 BS° N8 seenapgR8 08 O6?
Options :

Utricularia
A& Eogerdair
1.4

Zizyphus
R2HD

2.

[pomea
a2t ndie
3. %

Equisetum
&8yDeren
4, ®

Question Number : 216 Question Id : 9032012017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Tortula” belongs to which of the following group?
‘Shee” 8ob BS° TO8 JodIB?

Options:

Mosses

1 ¢ esoen

Lichens
Z5%



Algae
o)

Fungi
3D o(gren

Question Number : 217 Question Id : 9032012018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Jalpara Sanctuary’ of rhinos is in which State?
sgtﬁ‘iaﬁ}&jﬁu@ 2D ©9gairdeso o oelio8® &06H?

Options :
Madhya Pradesh
S50 S
Rajasthan

oPasarR
@

2. %
West Bengal
58y Bored

3. ¢

Maharashtra



Question Number : 218 Question Id : 9032012019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Gorillas are specific to which of the following zoogeographical region?
Froepen 808 @ ea@@R(rdES [Froamid DEIDID?

Options:

Ethiopian region
2HAPHADI (Froso

Nearctic region
H80% (@rodo

2. %
Oriental region
2,800 |arodo
3. %
Palaearctic region
FOAEERE (akodo
4. ®

Question Number : 219 Question Id : 9032012020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which behavior involves the rearing of the young?
2ee VoDBoE® 3 (HHGS Gotnod?



Options :

AllelomimeticBehaviour
3 D OE& Hardahb

1. %
Investigative Behaviour
DO HHE (HBED
2. %
EpimeleticBehaviour
LDHBHE Dardchbd
3.v
Contractual Behaviour
20l [DHYD
4, % &

Question Number : 220 Question Id : 9032012021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The taxis in response to contact with some solid object or other organism
is called .
AP % SR Boe 288 408° SomogeR B8 08N ﬁﬁéﬁ]@?ﬁj ©0tTH.

Options :

Thigmotaxis
%S0
- e

Rheotaxis
Ba@rer8 D
2. %



Galvanotaxis
ﬂfmﬁﬁﬁ,ﬁ%ﬁ
3. w

Geomagnetaxis
BAPHFEN PSR
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Question Number : 221 Question Id : 9032012022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A patient’s urine smells like a sweet syrup. The recommend diet should be
Devoid of?

Options :

Isoleucine
1.9

Phenyl alanine
2. #®

- Tryptophan

Tyrosine
4, %

Question Number : 222 Question Id : 9032012023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Absorption and metabolism of which vitamin is affected by Warfarin?
Options:

Vitamin A
1. =



Vitamin K

5« Vitamin D

Vitamin E
4, ®

Question Number : 223 Question Id : 9032012024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is true about diabetes mellitus?
|. Decreased insulin levels

Il. Decreased insulin sensitivity
[ll. Increased insulin levels

IV. Increased glucose levels

Options:
e 1&
& IV
2. %
l, 1 & Il
3., %
L, & IV
4.+

Question Number : 224 Question Id : 9032012025 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The major function of sarcoplasmic reticulum in skeletal muscle is?

Options :

Store Potassium

Store Sodium
2. ®

Store Acetyl Choline
3. %

Store Calcium

Question Number : 225 Question Id : 9032012026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Glucokinase is different from hexokinase. Identify the correct statement.

Options:

1% Glucokinase has a higher affinity for glucose than hexokinase.

Glucokinase has a lower affinity for glucose than hexokinase and is inhibited by glucose-
6-phosphate.

2. %

Glucokinase has a lower affinity for glucose than hexokinase and is not inhibited by
3 Glucose-6-phosphate.



Glucokinase has a higher turnover rate than hexokinase.

Question Number : 226 Question Id : 9032012027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A patient with myocardial infarction was recommended Statin as a medicine, why?

Options :

P It inhibit the enzyme HMG Co-A reductase

5 % It decreases serum LDL levels

3 » ltincreases serum HDL levels

. x It inhibits conversion of VLDL to LDL

Question Number : 227 Question Id : 9032012028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Nitrogen atoms & Carbon atom of Urea (NH2-CO-NH2) in urea cyle are derived
from?

Options :

Ammonia & Carbon dioxide

Ammonia & Aspartate
2. %



Ammonia, Aspartate & Carbon dioxide

4 % Carbomyl phosphate & Carbon dioxide

Question Number : 228 Question Id : 9032012029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The final products of anaerobic respiration in mammalian cells?

Options :

1. Lactic acid

, « Glycerol

Ethyl alcohol
3. %

4 » Ethyl alcohol and Carbon dioxide

Question Number : 229 Question Id : 9032012030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following derivative of beta-carotene serve as visual pigment?
Options :

1« Retinal



Retinol

Retinoid

Retinoic acid

Question Number : 230 Question Id : 9032012031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Oxidation of fatty acid with odd number of carbons produces which of the
following?
Options :

Acetoacetyl CoA and Propionyl CoA

1. #

Acetyl CoA only
2. %

Propionyl CoA only

, Acetyl CoA and Propionyl CoA
4. "

Question Number : 231 Question Id : 9032012032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
The brown color of human faeces is due to which pigment?
Options :

Stecobilirubin
1. %

Stercobilinogen

Stercobilin
3

Stecobilin
4, %

Question Number : 232 Question Id : 9032012033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A young child has emaciation of body, dry and wrinkled skin, and thinning of
limbs. These symptoms are related to?

Options :

1 # Protemia

Kwashiorkor

Marasmus
3.

4 % Both Kwashiorkor & Marasmus



Question Number : 233 Question Id : 9032012034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Inappropriate secretion of Anti-diuretic hormone is associated with
|. Diabetes mellitus
Il. Diabetes insipidus
lll. Hyponatremia

[V. Water intoxication

Options :
L, 11, 1 & 1V
1. %
11 & 1l
2. ¢
1, 1, & 1V
3. %
| & 1l
E

Question Number : 234 Question Id : 9032012035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Nucleotides are polymerized to nucleic acids through which of the following
bonds?

Options :

Glycosidic bond



Peptide bond

3 ¢ Phosphodiester bond

Phosphoanhydride bond
4. ®

Question Number : 235 Question Id : 9032012036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The fluidity of biological membranes is least influenced by which of the
following?

Options :

Unsaturated fatty acids
1.9

> % oSaturated fatty acids

Cholesterol

Phosphatidylethanolamine

Question Number : 236 Question Id : 9032012037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



|dentify the correct statements about Telomere?
|. Telomeres consists of double-stranded DNA
Il. Telomeres consists of single-stranded DNA
Ill. Telomeres shorten with each cell division

IV. Telomere shortening causes aging and telomerase prevents aging

Options :

1
1. %
) o | & I

[, 1 & IV
3. %

1, 1 & 1V
4, ®

Question Number : 237 Question Id : 9032012038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Enzymes Ligase & Lyase catalyzes which of the following reactions,
respectively?

Options :

Intramolecular rearrangement of bonds
1. %

> % Intermolecular rearrangement of bonds

3  Formation of bonds & Breaking of bonds



4 » Breaking of bonds & Formation of bonds

Question Number : 238 Question Id : 9032012039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which enzymes cleaves C-terminal side of Arginine residues of a peptide is?

Options :

Amylase
1. #

5 % Pepsin

Chymotrypsin

Trypsin
4. &

Question Number : 239 Question Id : 9032012040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Increase in substrate concentration relieves which kind of enzyme inhibition.
Options :
Competitive

1.+

Uncompetitive



Non-competitive

Allosteric

Question Number : 240 Question Id : 9032012041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. True statement about focal adhesions and hemidesmosomes?

|. Both are cell-matrix interactions

|l. Both are cell-cell interactions

lll. Focal adhesions are cell-cell and hemidesmosomes are cell-matrix interactions

|V. Both are anchoring junctions

Options :

I
1. #

|
2. #®

& IV
3. %

| & IV
4.

Question Number : 241 Question Id : 9032012042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
The correct statement about action potential is?

Options :

1. Na+ ions in and K+ ions out of the cell.

Na+ ions out and K+ ions into the cell.

3 % Both Na+ and K+ ions into the cell.

. Both Na+ and K+ ions out of the cell.

Question Number : 242 Question Id : 9032012043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first product of glycogenolysis in muscle is?

Options:

Glucose

UDP-Glucose

Glucose-1-phosphate
3.¥

Glucose-6-phosphate
4. %



Question Number : 243 Question Id : 9032012044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following nutrient is essential for synthesis of DNA
components?

Options :

Ascorbic acid

heta-carotene

Calciferol

Folic acid
4.

Question Number : 244 Question Id : 9032012045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Mitochondria-associated membranes represent which region of an
eukaryotic cell?

Options :

| % Inter-membrane space of the inner and outer membranes of Mitochondria

- Interacting region between mitochondria and Endoplasmic reticulum

Interface of mitochondria with nuclear membrane



4 % Interface of mitochondria and plasma membrane

Question Number : 245 Question Id : 9032012046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Number of Heavy chains in Secretary Immunoglobulin A?

Options :
1

Question Number : 246 Question Id : 9032012047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The enzyme that catalyze the condensation of acyl and malonyl groups in
fatty acid synthase complex is?

Options :

Acyl carrier protein



Acetyl co-A ACP transacetylase

Malonyl co-A ACP transferase

A B-ketoacyl ACP synthase

Question Number : 247 Question Id : 9032012048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which immune cells secrete Histamine?
Options:

B-Cells

Eosinophils

Macrophages

Mast cells

Question Number : 248 Question Id : 9032012049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Variable region present in which of the following component of Immunoglobulin?
Options :
C-end of L-chain

1. %

C-end of H & L chain

2. W

N-end of H & L Chain
3. %

MN-end of H-chain
4, %

Question Number : 249 Question Id : 9032012050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Antibodies transmitted from mother milk to baby is an example for?
Options :

Naturally active immunity

Artificial active immunity

Natural passive immunity
3.¢

. Artificial passive immunity
4.



Question Number : 250 Question Id : 9032012051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The deficiency of which hormone results in lowering of blood calcium levels?

Options:

Calcitonin
’|_ e

Parathormone
2.9

Cortisol
3. =

Thyroxine

4, #

Question Number : 251 Question Id : 9032012052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Uncoupling of oxidative phosphorylation results in?

Options :

. Inability to produce heat by the operation of the electron transport chain.

Operation of the electron transport chain without ATP production.
2.



A dependence on ADP for the electron transport chain to operate.

Inability to oxidize NADH by the electron transport chain.

Question Number : 252 Question Id : 9032012053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
|dentify the correct statements about the carbon skeletons of amino acids?
|. Ketogenic amino acids can give rise to acetyl-CoA.
ll. Glucogenic amino acids can give rise to glucose in starvation
lll. Ketogenic amino acids can be converted to Mevalonate.

IV. Some amino acids are both glucogenic and ketogenic.

Options :
| & IV
1. %
[, 11 & Il
[, 1, &IV
3. v
" & 1v
4. %

Question Number : 253 Question Id : 9032012054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Incomplete divided ventricle can be seen in the heart of which of the following?

Options :
1 = Amphibians

5 % Snake

Reptiles
3.¢

Fish

Question Number : 254 Question Id : 9032012055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Liver glycogen, but not muscle glycogen is served as a source of glucose for
tissues including the brain. Why?

. Muscle glycogen is highly branched

II. Muscle does not have a debranching enzyme.
III. Muscle lacks glucose-6-phosphatase.

IV. Muscle lacks glucose-1-phosphatase

Options :



I

I & IV

Question Number : 255 Question Id : 9032012056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The phenomenon of an extracted chlorophyll to emit the light at a lower energy
level is known as?

Options :

Fluorescence

1.4
Red shift
2. %
Phosphorescence
3. #®

Photobleaching

Question Number : 256 Question Id : 9032012057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Based on Frederick Griffith’s experiment the virulence of pneumococcus is due to?



Options :

Lysosome
1. %

Ribosome

Chromosome

Capsule
4. &

Question Number : 257 Question Id : 9032012058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Chromatin replicate in which phase of the cell cycle?
Options:

Interphase
1. #

Metaphase
2.

Anaphase
3, #®

Telophase
4. ®

Question Number : 258 Question Id : 9032012059 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

RNA Polymerase binds at which part of DNA?

Options:

Cistron

Intron

Promoter
3. %

Operator

Question Number : 259 Question Id : 9032012060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hormones of which gland are modified amino acids?

Options :

1 = Pituitary

Adrenal Medulla
2.9

Adrenal Cortex



Pancreas

Question Number : 260 Question Id : 9032012061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The protein coat of a coronavirus is known as?

Options :

Capsule
1. %

Capsid
2.

3. % Cell-membrane

Viral wall

Question Number : 261 Question Id : 9032012062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of following organisms will have the highest % of unsaturated fatty
acids their cell membranes?

Options :

Freshwater fish
1. =



) o Antarctic fish

Himalayan fish

Saltwater fish
4. %

Question Number : 262 Question Id : 9032012063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Ricin is an abundant protein component of castor beans and is toxic to mammalian
cells. The most likely mechanism how ricin enters the mammalian cell is?

Options :

1@ Packaged into vesicles and endocytosis

Internalization with help of chaperones

Interaction with SNARE proteins

4 % Binding to clathrin proteins

Question Number : 263 Question Id : 9032012064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ethylene fosters fruit ripening process by inducing the expression of?



Options :

Polygalacturonase
1.+

Chitinase

3 % Galactosidase

S-adenosylmethionine
4. %

Question Number : 264 Question Id : 9032012065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The intrinsic factor is required for absorption of?

Options:
1 % Iron

Vitamin B12
2.9

Molybdenum
3. %

Zinc
4. %

Question Number : 265 Question Id : 9032012066 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following changes takes place when a skeletal muscle contracts?

Options :

Actin filamentscontract

Myosin filamentscontract

3 ¥ |l-band become shorter

Z discs move farther apart
4, %

Question Number : 266 Question Id : 9032012067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Human insulin is a 51-amino acid peptide hormone. How many molecules of 0.1%
SDS can bind to human insulin.

Options :
26

1. %

51

76



102

Question Number : 267 Question Id : 9032012068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which chromatographic technique employs highly specific interactions between pairs

of biological materials such as receptor-ligand?

Options :

lon-exchange chromatography

Gel-filtration chromatography
2. %

3 % Adsorption chromatography

4 Affinity chromatography

Question Number : 268 Question Id : 9032012069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Treating cells with cyclohexamide results in inhibition of?

Options :
DNA Replication



Chromosome segregation

Transcription

Protein synthesis
4. &

Question Number : 269 Question Id : 9032012070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

DNA replication in eukaryotes is different from that of prokaryotes. |dentify
the correct statement

Options:

DNA replication in eukaryotes is unidirectional
1. %

P DNA replication in eukaryotes is discontinuous

_ Eukaryotes use DNA primer rather than RNA primer
3. %

. In Eukaryotes lagging and leading strand are synthesized by two different enzymes
4

Question Number : 270 Question Id : 9032012071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
The proofreading activity of DNA polymerase lll is due to its?

Options :

5 to 3’ endonuclease activity

3" to 5’ endonuclease activity

5" to 3’ exonuclease activity

3" to 5’ exonuclease activity
4. &

Question Number : 271 Question Id : 9032012072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The enzyme responsible for removing supercoiling in replicating DNA ahead
of the replication for k is?

Options:

Helicase

Topoisomerase
2. ¥

Endonuclease
3. %



Exonuclease

Question Number : 272 Question Id : 9032012073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A mutation occurred in DNA wherein AT base pair is replaced by GC
Base pair, which is an example of?

Options :

Transversion
1. %

Transition
2.9

3 % Silent

Inversion
4_ W

Question Number : 273 Question Id : 9032012074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which one out of the following is a Zn2+ requiring enzyme?
Options :

| Phosphoglucomutase



Pyruvate dehydrogenase

2. %
3 % Lactate dehydrogenase

Malate dehydrogenase
4. %

Question Number : 274 Question Id : 9032012075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The molecule with highest redox potential is?

Options :

02
1. ¢

NADH+H

NAD

FAD
4. %

Question Number : 275 Question Id : 9032012076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Four proteins of sizes 100, 75, 50, and 25 kDa are subjected to SDS-PAGE
and Gel-filtration chromatography. Which protein elute fast in both these
chromatography techniques, respectively?

Options :

25 kDa in both occasions
1. %

25kDa and 100 kDa
2.9

100 kDa and 25 kDa

100 kDa in both occasions

Question Number : 276 Question Id : 9032012077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When type B agglutinogen is present on the RBC, his/her blood would
contain which antibodies?

Options :

No antibodies against A and B

Anti-A
o



Anti-A & Anti-B

Question Number : 277 Question Id : 9032012078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The composition of lymph with respect to blood can be expressed as?

Options :

RBC, no platelets, proteins with lymphocytes

1. %

- No RBC, no platelets, less proteins with lymphocytes

No RBC, no platelets, less proteins with macrophages.
3. ¢

4 % RBC, no platelets, less proteins with macrophages

Question Number : 278 Question Id : 9032012079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about migration of DNA molecules in gel
electrophoresis

Options :

Longer DNA molecules migrate faster



5 % DNA migrate from basic to acidic terminals

DNA migrate from negative to positive terminals
3. ¢

4w DNA migrate from positive to negative terminals.

Question Number : 279 Question Id : 9032012080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The yellow color of golden rice is due to?

Options :

| % Chlorophyll A

Chlorophyll B
2. %

Curcumin

beta-carotene
4, &

Question Number : 280 Question Id : 9032012081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



|dentify the correct statement about Isoschizomers?

Options :

1% They have same recognition sequence hut cleave DNA at different recognition site

They have same recognition site and different recognition sequence
2. %

» They have same recognition sequence and cleave the DNA at the same positions
3. %

They have different recognition sites and sequences
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Question Number : 281 Question Id : 9032012082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the type of genetic cross in which the individual in question is crossed with
an individual known to be homozygous for a recessive trait?

Options :

Dihybrid cross

Reciprocal cross

Parental cross

Test cross
4,

Question Number : 282 Question Id : 9032012083 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

It has been found that 220 different alleles exist at a certain locus of the human
genome. How many alleles for this gene would be found in a somatic cell of each
person?

Options:

220

1. %

Question Number : 283 Question Id : 9032012084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following would you calculate to investigate whether there is a
relationship between two variables?

Options:

Correlation coefficient
1. %

, % Variance

Standard deviation
3. %



Selection coefficient

Question Number : 284 Question Id : 9032012085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the purpose of QTL analysis?

Options :

The calculation of a concordance value
1. %

5 The identification of chromosome regions associated with a complex trait

- The identification of additive genes

The discrimination between traits that vary continuously and discontinuously
4, %

Question Number : 285 Question Id : 9032012086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a X-linked recessive disorder?

Options :

Sickle cell anemia
1. %



Albinism

3 @ Colour blindness

. Phenylthiocarbamide tasting

Question Number : 286 Question Id : 9032012087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the genes for a trait are inherited by both men and women but only show up in
the phenotype of women, they are referred to as genes.

Options :
1 = Sex controlled

. Codominant

2.

- Sex-limited
Dominant

4, %

Question Number : 287 Question Id : 9032012088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Hemophilia A and hemophilia B have nearly identical phenotypes, but they result
from mutations in different genes on the X chromosome. This is an example of;

Options :

1 « Locus heterogeneity

Allelic heterogeneity

Variable expressivity
3. %

n Compound heterozygosity

Question Number : 288 Question Id : 9032012089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The unit of map distance in a linkage map is

Options:
| » Base pairs

Centimorgan
2.9

5 » Centimeter

~ Nucleotide
4, %

Question Number : 289 Question Id : 9032012090 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If there is a family history of genetic disorders, knowing the gender of an
unborn child can be helpful because:

Options :

Male children are more likely to have x-linked traits show up in their phenotype
1. %

Male children are more likely to have autosomal defects show up in their
phenotypes
2. %

Female children are more likely to have autosomal defects show up in their

3 % phenotypes

Male children are more likely to have x-linked traits show up in their phenotype
and Female children are more likely to have autosomal defects show up in their
phenotypes

Question Number : 290 Question Id : 9032012091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The tendency of genes to be transmitted together exemplifies
Options :

Recombination

Chromosomal interference



3 Genetic linkage

4 = Independent assortment

Question Number : 291 Question Id : 9032012092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An allele that is not expressed in a heterozygote is an example of
Options :

Dominant trait

1. #

Recessive trait
2. %

' A mutated gene
3. %

Pure breeding type

Question Number : 292 Question Id : 9032012093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
An individual with two different alleles for a given trait is known as a(n)
Options :

Phenotype



Recombinant

Heterozygote
3. %

Homozygote
4, %

Question Number : 293 Question Id : 9032012094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The process of taking of naked DNA by the bacterial cell is called
Options :

Conjugation

» « Transformation

Transduction
3_ w

Recombination
4, %

Question Number : 294 Question Id : 9032012095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The extrachromosmal genetic elements present in bacteria are called

Options :

| % Transposons

5 % Insertion sequences

Plasmids
3. %

Transposons and Insertion sequences

Question Number : 295 Question Id : 9032012096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Meiotic recombination involves the breakage and reunion of DNA molecules from
Options :

Homologous non-sister chromatids
1. %

Homologous sister chromatids
2. %

Maternal and Paternal gametes



Heterologous chromosomes

Question Number : 296 Question Id : 9032012097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Genetic rearrangement that may involve an RNA intermediate is a:

Options :
Inversion

Duplication
2. %

Translocation
3. %

Transposition
4.

Question Number : 297 Question Id : 9032012098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is involved in genomic imprinting?

Options :

1 = Alternate splicing

> % RNA editing



DNA methylation
3. %

Telomere shortening
4, %

Question Number : 298 Question Id : 9032012099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The RNA molecule that is associated with pre-mRNA splicing is

Options :
mIiRNA

1. #

Question Number : 299 Question Id : 9032012100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pick up the right combination

Options :

Prokaryotes — Nuclear membrane

1. %



5 Eukaryotes — introns

5 » Prokaryotes — Alternate splicing

4 % Eukaryotes — operons

Question Number : 300 Question Id : 9032012101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a post translational modification?

Options :

- Splicing

Glycosylation
2.V

RNA editing
3_ e

Translocation
4. %

Question Number : 301 Question Id : 9032012102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Insertion of which of the following number of nucleotides will not change the
reading frame of the gene

Options :

1 = One

Two
2_ 4

3 @ Three

One and Two

Question Number : 302 Question Id : 9032012103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following types of mutation is most likely to result from UV
exposure?

Options :

Thymidine dimer
1. %

Chromosome breakage
2. %

Frameshift mutation
3. %

Nonsense mutation



Question Number : 303 Question Id : 9032012104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A mutation in a codon leads to the substitution of one amino acid with another.
What is the name for this type of mutation?

Options :

Nonsense mutation

Missense mutation

Frameshift mutation

Promoter mutation

Question Number : 304 Question Id : 9032012105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a protein database 7
Options:

Uniprot

Swissprot
2. %



PDB

ENA

Question Number : 305 Question Id : 9032012106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following terms describes a bacterial cell that has lost its ability to
synthesize leucine?

Options :
Hfr

auxotrophic

prototrophic

Question Number : 306 Question Id : 9032012107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following vector is used for cloning very large insert DNA



Options :

Plasmid vector

YAC vector
2.4

Phage vector

Cosmid Vector

Question Number : 307 Question Id : 9032012108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a blotting technique used for blotting RNA

Options :
Southern

1. %

5 Northern

Western
3. w

Elisa
4, %

Question Number : 308 Question Id : 9032012109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which enzyme catalyses the unwinding of DNA?

Options:

Unwindase

Topoisomerase

Helicase

Endonuclease

Question Number : 309 Question Id : 9032012110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is responsible for secondary immune responses?

Options :
1 % Naive lymphocytes

Memory lymphocytes

Effector lymphocytes
3. %

4 « Antibodies



Question Number : 310 Question Id : 9032012111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Insect resistant transgenic cotton plants are produced by transferring genes
from to the susceptible plant

Options :

A resistant cotton plant

Agrobacterium tumefaciens

2. %

Bacillus thuringiensis
3.¢

Bacillus subtilis
4, ®

Question Number : 311 Question Id : 9032012112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following bacteria is used for genetic transformation of plants

Options:

Agrobacterium
1. %



Pseudomonas

Azospirillum

Bacillus

Question Number : 312 Question Id : 9032012113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an autoimmune disorder?

Options :

Rheumatoid arthritis

Cardiovascular disease

Typhoid fever

. HIV/AIDS

Question Number : 313 Question Id : 9032012114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these cell types is an important antigen presenting cell?



Options :

Helper T cells

1. %

Natural Killer cells
2. %
, Dendritic cells

Epithelial cells

Question Number : 314 Question Id : 9032012115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a secondary lymphoid organ?

Options:

Bone marrow

Hypothalamus

Spleen
3. ¥

Thymus
4. ®

Question Number : 315 Question Id : 9032012116 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Reverse transcriptase is the enzyme that

Options :

Makes RNA from DNA template

- Makes DNA from RNA template

3 » Makes RNA from RNA template

Makes DNA from DNA template
4, %

Question Number : 316 Question Id : 9032012117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following molecule errors are corrected
Options :

1. % Protein

DNA

RNA



Carbohydrate

Question Number : 317 Question Id : 9032012118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pick of the right combination

Options :

_— Plasmid — site specific recombination

5 % Holliday junction — Non homologus end joining

3 % Recombination — Mitosis

RecA protein — Homologous recombination

Question Number : 318 Question Id : 9032012119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a PCR based molecular marker 7

Options :

RFLP markers
1.4

RAPD Markers

2. %



SSR Markers

AFLP Markers
4, ®

Question Number : 319 Question Id : 9032012120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following enzyme is used for phosphorylation of DNA
Options :

Ligase

1_%5

Exonuclease
2_ w

Phosphatase
3. #®

Kinase
4, &

Question Number : 320 Question Id : 9032012121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pick up the wrong sentence regarding gene expression

Options:



Not all genes in living organisms produce protein

Most eukaryotic genes undergo splicing to remove the intronic sequences from the

primary transcript

Each protein coding gene in eukaryotes produces only a single polypeptide

In prokaryotes some of the genes are physically grouped and regulated together

Question Number : 321 Question Id : 9032012122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Synonymous SNPs are possible because of

Options :

1 » DNArepair

Triplet codons
2. %

Codon redundancy
3. %

~ Anticodons
4, %

Question Number : 322 Question Id : 9032012123 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Number of genes in Escherichia coli is
Options :

.« ~500

~4.500
2. ¢

>10000

>6000

Question Number : 323 Question Id : 9032012124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AGGTATCGCAT is a sequence from the sense strand of a gene. What will be
the corresponding sequence of the transcribed mRNA?

Options :
. UGGTUTCGCAT

AGGUAUCGCAU
2. %

;. » UCCAUAGCGUA

ACCUAUGCGAU



Question Number : 324 Question Id : 9032012125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many amino acids are encoded by the following mRNA sequence?
CUUGAAGCGAUAUGA

Options :
4

Question Number : 325 Question Id : 9032012126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following correctly describes prokaryotic ribosomes?
Options :

« A 70S structure with 50S and 30S subunits
14

A 70S structure with 40S and 30S subunits



3. » A 80S structure with 50S and 30S subunits

A 80S structure with 60S and 40S subunits

Question Number : 326 Question Id : 9032012127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The genome is defined as:

Options :

. The haploid DNA content of an organism
1. %

5 @ Total DNA content of an organism

3 % All the genes of an organism

4 = Allgenes and proteins of an organism

Question Number : 327 Question Id : 9032012128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is polyploidy?

Options :

A chromosome which has replicated many times, without mitosis occurring



> % A chromosomal inversion that includes the centromere

Extra copies of a gene on a chromosome
3. %

An extra set of chromosomes

Question Number : 328 Question Id : 9032012129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following cytogenetic techniques would be the most likely to
identify a microdeletion?

Options :
G banding

1. %

R banding

Fluorescence in situ hybridization
3. v

4 % Inversion analysis

Question Number : 329 Question Id : 9032012130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following defines the Hardy-Weinberg equilibrium?

Options :

Constant allele frequencies which do not change from generation to generation
1.4

) Heterozygosity at all loci

Elimination of all lethal alleles

Elimination of genetic drift
4. %

Question Number : 330 Question Id : 9032012131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Why are heat stable DNA polymerases an essential component of the
polymerase chain reaction?

Options:

All components of a PCR reaction are from thermophilic bacteria

These polymerases are needed to melt DNA
2. ®

These polymerases do not denature at the temperatures used to melt DNA
3. %

These polymerases can be easily synthesized in a laboratory



Question Number : 331 Question Id : 9032012132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

You are inserting your gene of interest into the Lac Z gene in a plasmid also
containing a tetracycline resistance gene. You plate your transformed bacteria on
media containing tetracyline and X-gal. Which of the following results would
indicate a clone with recombinant plasmids?

Options :

A clone which did not grow on the tetracycline plates
1. %

A white colony on the tetracyline plates
2. %

A blue colony on the tetracyline plates

A red colony on the tetracyline plates

Question Number : 332 Question Id : 9032012133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following lg is involved in mediating allergic reactions

Options :
1. % I9G
lgM



Question Number : 333 Question Id : 9032012134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following reactions is required for proofreading (i.e. correcting
replication errors) during DNA replication by DNA polymerase [I1?
Options :

3' - 5" exonuclease activity
1. ¢

5' - 3' exonuclease activity

2. %

3' - §' endonuclease activity
3. #

5' - 3' endonuclease activity
4. #

Question Number : 334 Question Id : 9032012135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Covaxin used for Covid-19 is a

Options :

mRNA vaccine

, » DNAvaccine

Protein subunit vaccine

Inactivated virus vaccine
4,

Question Number : 335 Question Id : 9032012136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Transfection refers to which of the following

Options :

Synthesis of MRNA from DNA template

Synthesis of protein based on mRNA sequence

Introduction of foreign gene into a cell

4 % The process by which the cell become malignant



Question Number : 336 Question Id : 9032012137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Production of transgenic animals require introduction of genes into

Options :

- Stem cells

- Red Blood cells

Eggs or embryos
3.¢

Brain cells

Question Number : 337 Question Id : 9032012138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Phytoremediation refers to use of to remove toxic
chemicals from the environment

Options :

Light

Phytase enzyme



Plants

Bactaeria

Question Number : 338 Question Id : 9032012139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

During replication of DNA discontinuous synthesis of DNA takes place in
Options :

Leading strand

1. %
L Lagging strand
Both leading and lagging strands
3, #
Only in prokaryotic DNA replication
4, %

Question Number : 339 Question Id : 9032012140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following does not occur during mitosis?



Options :

Chromosome condensation
1. 3

5 % Chromosomes align on the midplate of the cell

3 % Sister chromatids separate and move to opposite poles

Pairing and synopsis of homologous chromosomes
4.

Question Number : 340 Question Id : 9032012141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
. Which of the following statement is correct regarding the internet
Options :

Internet is physically connecting computers

1. %

It is a network of networks which is not centrally controlled
2.9

It is networking of computers which is centrally controlled
3. %

Internet and worldwide web are same
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Question Number : 341 Question Id : 9032012142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Antony von Leeuwenhoek in his series described living microbes as
Options :
- Bacteria

1. %

Animalcules
2.

Protozoa

. Microorganisms

Question Number : 342 Question Id : 9032012143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Who disproved the theory spontaneous generation of microbes

Options :

- Robert Hook

- Antony von Leeuwenhoek

Louis Pasteur
3. v

L M.J. Berkley



Question Number : 343 Question Id : 9032012144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following microscope is used for visualization of living and transparency
organisms

Options :

Bright field microscope

1. %

Dark field microscope

Phase contrast microscope
3. %

. Electron microscope

Question Number : 344 Question Id : 9032012145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A dark image against a bright background can be seen in
Options :

Bright field microscope
1. ¢

- Dark field microscope



Fluorescent microscope

Electron microscope

4. %

Question Number : 345 Question Id : 9032012146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Dye crystal violet is

Options :

Anionic dye

1. %

Cationic dye
2.

Neutral dye

Acidic dye

Question Number : 346 Question Id : 9032012147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘The staining technique used to identify Mycobacterium tuberculosis



Options :
Gram staining
1. %

, » Negative staining

Endospore staining

3, #®

Acid fast staining
4. &

Question Number : 347 Question Id : 9032012148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Sterilization by UV Radiation is called

Options:

Dry heat sterilization

1. #

Filtration

Cold sterilization
3.¢

. Gaseous sterilization

Question Number : 348 Question Id : 9032012149 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Blood agar medium is a
Options :

. = Synthetic medium

Complex medium
2. #

Enriched medium
3. ¢

) w Selective medium

Question Number : 349 Question Id : 9032012150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Lowenstein Jenson medium Is used to cultivation of
Options:

- E. coli

Bacillus sp.

; « Lactose fermenting bacteria

Mycobacterium
4. ¥



Question Number : 350 Question Id : 9032012151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The chemical techoic acids are present in

Options :

- Gram positive bacteria

- Gram negative bacteria

Viruses
3_ e

Fungi

Question Number : 351 Question Id : 9032012152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The temperature at which microbial cells are preserved in liquid nitrogen

Options :

.. -100°C

- 196°C

2. %



37°9C

50°C

Question Number : 352 Question Id : 9032012153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Lysogenic strains of bacteriophages are also called

Options :

Virulent phages

- Temperate phages

- Filamentous phages

Viroids

Question Number : 353 Question Id : 9032012154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Viral particles without nucleic acid and with only protein are called
Options :

| « Prions



Viroids

Virusoids
3. w

Satellite viruses

Question Number : 354 Question Id : 9032012155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The bacteriat obtain both energy and carbon sources from organic compounds
are called

Options:

Photo autotrophs

1. %

, « Photo heterotrophs

- Chemo autotrophs

4« Chemo heterotrophs

Question Number : 355 Question Id : 9032012156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The arrangement of organisms into groups or taxa is called

Options :

Nomenclature

’|_ 4
systematics
2. %
_— classification
|dentification
4. ®

Question Number : 356 Question Id : 9032012157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The main product of EMP pathway is

Options :

Citrate

COz2



Pyruvate

Question Number : 357 Question Id : 9032012158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The terminal electron acceptor in aerobic respiration

Options :

O2

1.4

Coz

NOs3

H2S

Question Number : 358 Question Id : 9032012159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
During fermentation the sugar is converted into
Options :

Ethanol and oxygen



,» « Ethanol and carbon dioxide

Ethanol and water

. Oxygen and water

Question Number : 359 Question Id : 9032012160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tetracycline inhibits which part of the Ribosome subunit
Options :

., 508

305

60S

405

4. %

Question Number : 360 Question Id : 9032012161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



HEPA filters are used to filter
Options :

.. Soi

water

3.¢

antibiotics

Question Number : 361 Question Id : 9032012162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B-oxidation takes place In

Options :

Mitochondria
1.¢

Cytoplasm
2. %

Nucleus
3. %

Chloroplast
4. ®



Question Number : 362 Question Id : 9032012163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Mode of DNA replication is

Options :
Conservative and bidirectional

, « Semi conservative and unidirectional

Semi conservative and bidirectional
3. v

, » conservative and unidirectional

Question Number : 363 Question Id : 9032012164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The mechanism that does not occur in prokaryotes is
Options :

Transcription

Splicing

2. ¢



Translation
3. %

Replication
4, %

Question Number : 364 Question Id : 9032012165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The enzyme that synthesizes cDNA from RNA is
Options :

DNA polymerase

1. %

DNA synthetase

-
DNA convertase
3, %
Reverse transcriptase
4.9

Question Number : 365 Question Id : 9032012166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



During DNA replication the synthesis of the leading strand of DNA results in
Fragments known as

Options:

Okazaki fragments
1.¢

Satellite fragments

Kornberg segment

L Double-helixsegment

Question Number : 366 Question Id : 9032012167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of structural genes present in LAC Operon
Options :

3

1.4



Question Number : 367 Question Id : 9032012168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The structural gene(Y) of Lac operon codes for
Options :

Transacetylase

B-galactosidase

Permease

Laccase
4_%’-3

Question Number : 368 Question Id : 9032012169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The inducer of lac operon is
Options :

- Lactose



Sucrose

Galactose

Glucose
4, %

Question Number : 369 Question Id : 9032012170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The lac operon is
Options:

ls under negative and positive control
1. %

|s under positive control only

. |s under negative control only
-

None

Question Number : 370 Question Id : 9032012171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Transposable elements are first discovered in

Options :
- Maize

- wheat

Bacteria

Virus

Question Number : 371 Question Id : 9032012172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the first engineered plasmid vector?
Options :

pBR322

1. %

pBR320

2. %

pUC18

3. %

pSC101

4.¢



Question Number : 372 Question Id : 9032012173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Viruses which attack bacteria are called

Options:

Bacteriophage
1. ¢

Lysophage

2. %

Virophage

3. ®

Mycophage

4. %

Question Number : 373 Question Id : 9032012174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The synthesis of RNA from DNA template is catalysed by

Options :

DNA Polymerase

1. %

RNA Polymerase

2. %



Helicase

Ligase

Question Number : 374 Question Id : 9032012175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The mRNA start Codon that initiates translation

Options :

AUG

1.4

UAG

2. %

CUG

3. %

UAA

4. %

Question Number : 375 Question Id : 9032012176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The enzymes which are commonly used in recombinant DNA technology are



Options :

Endonuclease and ligase

1. %

Restriction endonuclease and polymerase

Restrictionendonuclease and ligase
3. ¢

Ligase and Lyase

Question Number : 376 Question Id : 9032012177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Segment of DNA that reads same forward and backward is called

Options :

1.« CDNA

Plamid

2. %

cosmid

Palindromic DNA



Question Number : 377 Question Id : 9032012178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Thermal Cycler’ is used in the reaction

Options :

ELISA

, » Western blot

polymerase chain reaction
3. %

RFLP

Question Number : 378 Question Id : 9032012179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The immunity that is obtained during a lifetime is called

Options:

Acquired immunity
1.¢

Active immunity
2. %



Passive immunity

L Herd Immunity

Question Number : 379 Question Id : 9032012180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Monoclonal antibodies are usually produced from

Options :

Myeloma cells

1. %

Hybridoma cells
2. %

- Monocytes

Adipocytes
4, =

Question Number : 380 Question Id : 9032012181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Restriction endonucleases are also called
Options :



v Molecular scissors

Ligases

plasmid

polymerases

Question Number : 381 Question Id : 9032012182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The first antibodies produced during an immune response

Options :

lgG

Question Number : 382 Question Id : 9032012183 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Maturation of T-cell takes place in
Options :

. Thymus

1. %

Bone marrow

- Spleen

Lymphnode

4. %

Question Number : 383 Question Id : 9032012184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The example for autoimmune disease

Options:

Rhematoid arthritis

Psoriatic arthritis

HIV

3. %



All

Question Number : 384 Question Id : 9032012185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The binding portion of antibody is

Options :

Fab

Fc

Paratope
3.

Epitope

4, #

Question Number : 385 Question Id : 9032012186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The nature of endotoxins

Options :

Protein



polysaccharide

v lipopolysaccharide

lipid

Question Number : 386 Question Id : 9032012187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Food intoxication refers to
Options :

. « Disease caused by presence of pathogens

Disease caused by presence of toxin formed in food
2.

Disease caused by protozoans
3. %

None

Question Number : 387 Question Id : 9032012188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
The Yersinia pestis causes the following disease

Options :

Bubonic Plague
1.¢

Rubella

Mumps
3. %

Measles
4, %

Question Number : 388 Question Id : 9032012189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Blue baby syndrome’ is caused due to presence of chemical in water
Options :

Copper

Mercury
2, ®

Nitrate

3.¢



Arsenic

Question Number : 389 Question Id : 9032012190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is incorrect

Options :

Enzymes are protein in nature

, » Enzymes are colloidal in nature

. » Enzymes are thermolabile

Lo Enzymes are inorganic in nature and thrmostable.

Question Number : 390 Question Id : 9032012191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Vaccination is not available for
Options :

. Yellow Fever



- Typhoid fever

Malaria
3.

Hepatitis B

4.

Question Number : 391 Question Id : 9032012192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Conversion of NO2" to NO3™ is carried out byfollowing micro organism
Options :

- Nitrobacter

Nitrosomonas

- Nitrosococcus

4« Azospirillum

Question Number : 392 Question Id : 9032012193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The pigment present in the root nodules of legumes

Options :

Bacteroid
1. %

Rhizome

- Leghaemoglobin

Lectin
4, %

Question Number : 393 Question Id : 9032012194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Example for symbiotic nitrogen fixer

Options:
Azospirillum

Nitrobacter
2. %

5 » Rhizobium

Brady rhizobium
4, %



Question Number : 394 Question Id : 9032012195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Streptomycin is produced by which of the following organisms?
Options :
Stretomycesnourseli

- Streptomyces nodosus

Streptomyces fradiae
3. %

L Streptomyces griseus

Question Number : 395 Question Id : 9032012196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The method of food preservation in which food is frozen and sublimed to vapour
s called

Options :

Vaporization

1. %

i drying

2.



Lyophilisation
3.¢

Spray drying

4, =

Question Number : 396 Question Id : 9032012197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The Botulinum toxin is

Options :
Neurotoxin
1.9

Enterotoxin

Exotoxin

L Endotoxin

Question Number : 397 Question Id : 9032012198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Antibiotic Penicillin produced from following fungi

Options :



- Penicilliumchrysogenum

Aspergillusniger
2. ®

Mucor
3. 3

4w Aspergillusfumigates

Question Number : 398 Question Id : 9032012199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Batch fermentation is also called

Options :

Closed system
1. %

Open system
2.

Fed-Batch system
3. %

L Sub-merged system

Question Number : 399 Question Id : 9032012200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the genome present in virus

Options :

.« DNA

RNA

2. %

DNA or RNA

3.¥

. DNA and RNA

4.

Question Number : 400 Question Id : 9032012201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are true about the viruses?
Options :

Free-living microbes
1. %

- Small Obligate intracellular parasites

parasites
3. %

4. %



Multicellular organisms



